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Question Number : 1 Question Id : 6154751591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

6154756201, 1
£154756202. 2
E1547562032 2
6154756204, 4

Question Number : 1 Question Id : 6154751591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

154756201, 1
6154756202, 2
6154756203 3
6154756204 4

Question Number : 2 Question Id : 6154751592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E154756205. 1
E154758206. 2
E154758Z207. 3
E154756208. 4

Question Number : 2 Question Id : 6154751592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154756205 1
6154756206, 2
6154756207, 3
154756208 4

Question Number : 3 Question Id : 6154751593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

6154756209 1
6154756210, 2
6154756211, 3
6154756212 4



Question Number : 3 Question Id : 6154751593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4) (i1) 3 (iv)
Options:
6154756209, 1
6154756210, 2

E154756211. 3
B154r5621%. 4

Question Number : 4 Question Id : 6154751594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list, which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) {(11) and (1v)

(4) {(111) and (v)

Options:

61547562131
6154756214 2
6154756215 3
6154756216, 4

Question Number : 4 Question Id : 6154751594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154756213 1
6154756214 2
6154756215 3
6154756216, 4

Question Number : 5 Question Id : 6154751595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr

descriptive features. Match the two sets

Set I
(Evaluation system)
(a) Formative evaluation (1)
(b)  Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)
(v)

Set 11
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (€)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

B154756217. 1
6154756218 2
6154756219 3
6154756220 4

Question Number : 5 Question Id : 6154751595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) {a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)

Options:

6154756217 1
154756218 2
154756219, 2
6154756220, 4

Question Number : 6 Question Id : 6154751596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. cbzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
6154752211
6154756222 2
154756223 3
6154756224 4

Question Number : 6 Question Id : 6154751596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154756221, 1
6154756222, 2

6154756222 3
E154756224. 4

Question Number : 7 Question Id : 6154751597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of their socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

61547562251
E15475B226 2
E154756227. 3
BE154756228. 4

Question Number : 7 Question Id : 6154751597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154756225 1
B154r5B226 2
E154758227. 3
6154756228 4

Question Number : 8 Question Id : 6154751598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

E1547568229. 1
E154756230. 2
E154756231. 3
BE154756232. 4

Question Number : 8 Question Id : 6154751598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE154756229. 1
B154756230 2
E154756231. 3
E154758232. 4

Question Number : 9 Question Id : 6154751599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

BE154756233. 1
BE154756234 2
6154756235 3
E154758236. 4

Question Number : 9 Question Id : 6154751599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154756233, 1
6154756234, 2

6154756235 3
E154756236. 4

Question Number : 10 Question Id : 6154751600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (11) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

B154758237. 1
61547568238 2
6154756239 3
E154756240 4

Question Number : 10 Question Id : 6154751600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154758237. 1
61547568238 2
E154756239. 3
E154756240 4

Question Number : 11 Question Id : 6154751601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E154756241. 1
E154r56242 2
E154r56243 3
G154756244, 4

Question Number : 11 Question Id : 6154751601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a), (b) X () (2) (b), (c) &R (d)
3) (b, (c) HX (e) 4 (e, (e) (D
Options:

61547562411
6154756242 2
6154756242 3
E154756244. 4

Question Number : 12 Question Id : 6154751602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E154756245. 1
E154756246 2
B154756247. 3
B154r56248. 4

Question Number : 12 Question Id : 6154751602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E154756245 1



E154756246 2
B154r56247 3
B154r56248. 4

Question Number : 13 Question Id : 6154751603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

61547562459 1
6154756250 2
E154756251. 3
BE154756252. 4

Question Number : 13 Question Id : 6154751603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154756249 1
6154756250 2
E154756251. 3
BE154756252. 4

Question Number : 14 Question Id : 6154751604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) {c). (d) and (e) (4) (d). (e) and ()



Options:

6154756253 1
£154756254 2
E154756255 2
6154756256, 4

Question Number : 14 Question Id : 6154751604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b) 3T (c) (2) (). (c) 3 (d)
(3) (c). (d) 3T (e) (4)  (d). (e) 3T ()
Options:

E1547568253. 1
E154756254 2
BE154756255 3
B154758256. 4

Question Number : 15 Question Id : 6154751605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (A)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



BE154756257. 1
B154r56258. 2
B154756259 3
E154756260. 4

Question Number : 15 Question Id : 6154751605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

154756257 1
6154756258, 2
6154756259 3
6154756260 4

Question Number : 16 Question Id : 6154751606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

61547562611
E154756262. 2
E154756263. 3
E154756264, 4

Question Number : 16 Question Id : 6154751606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6,14

(3) 15, 35 (4) 24, 56
Options:
6154756261,
154756262,

E15475E8263.
E154756264

B R

Question Number : 17 Question Id : 6154751607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The number X in the following series :

3.8,18,38. X, ...is

(1) 78 (2) 80
(3) 76 (4) T4
Options:

E154756265. 1
E15475B266. 2
E1547SE267. 3
E15475E8268. 4

Question Number : 17 Question Id : 6154751607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafeAfigd sIgFa 0 X 2 -
3.8,18, 38, X, _..

(1) 78 2y 80

(3) 76 (4) 74
Options:
6154756265,
154756266,

E15475E267.
E154756268.
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Question Number : 18 Question Id : 6154751608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ' SOLUTION" 18 RSKTSHASM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5HLH
Options:

E154756269. 1
E154756270. 2
E154756271. 3
B154756272 4

Question Number : 18 Question Id : 6154751608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ & F=ffiga § & 9 =9 4 Tomar smom ?

(1) BQ5/HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options:

6154756269 1
6154756270 2
E154756271. 3
B154756272. 4

Question Number : 19 Question Id : 6154751609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

BE154756273. 1
B154r56274 2
B154756275 3
E154758276. 4

Question Number : 19 Question Id : 6154751609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



BE154756273. 1
B154r56274 2
B154756275 3
E154758276. 4

Question Number : 20 Question Id : 6154751610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2y 10%
(3) 11% (4) 12%
Options:

B154r58277. 1
E154756278. 2
E1547568279. 3
E154756280. 4

Question Number : 20 Question Id : 6154751610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

B154758277. 1
61547568278 2
6154756279 3
E154756280. 4

Question Number : 21 Question Id : 6154751611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

5154758281, 1
E1547568282. 2
6154756282 3
E154756284, 4

Question Number : 21 Question Id : 6154751611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidarel = feafd =0 avaa § gieed O Al e 31 SEREETd 5 9 ° g9E T
1 °1 33 F41 FEl A1 27

(1)  3TIH=H Ug S (2) 7 Ig g
(3)  WTYH-eH Ug EHm (4) T
Options:

E154758281. 1
E154756282. 2
BE154756283. 3
E154756284, 4

Question Number : 22 Question Id : 6154751612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E154756285. 1
E154756286. 2
E154758287. 3
E154756288. 4

Question Number : 22 Question Id : 6154751612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E154756285. 1
E154756286. 2
E154758287. 3
6154756288 4

Question Number : 23 Question Id : 6154751613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E154756289. 1
B154756290 2
6154756291 3
E15475623%. 4

Question Number : 23 Question Id : 6154751613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TTET AT A5 HrEE AN UA SIEE Fi i § Feiatad § O e g O getag 27

(1)  dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E154758289. 1
E154756290 2
E154756291. 3
BE154756292, 4

Question Number : 24 Question Id : 6154751614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

6154756233 1
6154756294 2
E154756295 3
E154756296. 4

Question Number : 24 Question Id : 6154751614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTiEd ¥ ¥ :H-T1 [@%ed To9% A 9arsd ) [Gemeal O Jdidd 2 9 29 od J [4iia 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27
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Options:

6154756293 1
6154756294 2
£154756295 2
6154756296, 4

Question Number : 25 Question Id : 6154751615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

6154756237 1
61547562398 2
E154756299 3
E154756300. 4

Question Number : 25 Question Id : 6154751615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gN1 99 #| O fFH

(1) AT T [y iz = ok
(3)  ETa® a= (4)  AITEAHF 95
Options:

B154r58297. 1
6154756238 2
6154756299 3
6154756300, 4

Sub-Section Number: 2
Sub-Section 1d: 61547574
Question Shuffling Allowed : Yes

Question Id : 6154751616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 6154751617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E154756301. 1
BE154756302 2
E154756303. 3
E154756304, 4

Question Number : 27 Question Id : 6154751618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154756305. 1
B154756306. 2
E154758307. 3
6154758308, 4

Question Number : 28 Question Id : 6154751619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E154756309. 1
6154756310 2
6154756311 3
E15475631% 4

Question Number : 29 Question Id : 6154751620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

61547563131
E154756314 2
E154756315 3
E154756316. 4

Question Number : 30 Question Id : 6154751621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

BE154756317. 1
BE154756318. 2
6154756319 3
E154756320. 4

Question Id : 6154751616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fofaigd difesn § Aty gmnigy =vas 99 9o SARA1 51 9ideddr 91 T 2
Atz o T S 5 S Sae 99a 9 SEa B FE 9= 12,00,000 2, G A1 WOSATEIE
Fafaiad 9941 =1 391 29y :

T Ao Jeqea-£f ST TE

TTel SATRAT =l W]
C++ 15%
C 25%
FIETA 12%
TEH 13%
iG] 15%
A AR UH b 10%
qr2Et 10%

Sub questions

Question Number : 26 Question Id : 6154751617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (Z2) b5:3
(3) gl (4 b5:2
Options:

51547583011
E154758302 2
6154756303 3
E154756304, 4

Question Number : 27 Question Id : 6154751618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154756305. 1
B154756306. 2
E154758307. 3
6154758308, 4

Question Number : 28 Question Id : 6154751619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. 9T 31 FE o de A dTe] SRl il Fd T 1

(1) 4.80.000 (2) 5.04.000
(3) 2.16.000 (4) 6.24.000
Options:

E154756309. 1
6154756310 2
6154756311 3
E15475631% 4

Question Number : 29 Question Id : 6154751620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2, U 312 U 17 37 = ST Svd i FEEET W@ 9 d S S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

61547563131
E154756314 2
E154756315 3
E154756316. 4

Question Number : 30 Question Id : 6154751621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E154756317. 1
BE154756318. 2
6154756319 3
E154756320. 4

Sub-Section Number: 3
Sub-Section 1d: 61547575
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154751622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {(a). (c). (b)

Options:

6154756321 1
6154756322 2
6154756323 3
154756324 4

Question Number : 31 Question Id : 6154751622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFeferfag ey feasd w T=9r fifw
(a) B feF
by HSum

(c) 29T 2 1A

3= OUET gudl & SARE FA °§ srafyd e ok ud et FHu

(1) (). (0. (@
(2 (). (). (@
3 (o) (b). (a)
4)  (a).(c), (b)

Options:

61547563211
6154756322 2
6154756323 2
6154756324 4

Question Number : 32 Question Id : 6154751623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:
61547563251

E154756326 2
BE154756327. 3
E154756328. 4

Question Number : 32 Question Id : 6154751623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafefigd @ T +9 o1 =70 SR 999 9= & 99 & e ghgs v o1 O geEa 1 aer e

o 9 27
(1) é—‘l Saled

(2) s

s

(3) AT THIG

(4) T

Options:

6154756325 1
6154756326, 2
6154756327 3
154756328 4

Question Number : 33 Question Id : 6154751624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
154756329 1



E154756330 2
E154756331. 3
E154756332. 4

Question Number : 33 Question Id : 6154751624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Teigd § d i |1 3-Hel o Hed § 390 ¢ 7

(3)

(4)

Options:

7 FJE H2as WIS T UE 0 2
TE FAT=d HAWl I 9 WO 2 Ol 8
-1t gor 7T 9T e 2

211 7q T S T 9 BT 2

B15475683259. 1
6154758330 2
6154756331 3
E154756332. 4

Question Number : 34 Question Id : 6154751625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

(a)

(b)

(c)

(d)

List I
(E-1nitiatives)
Vidwan
Digilocker
Sakshat

Shodh Ganga

(1)

(11)

(111)

(1v)

Last IT
(Descriptions)

Repository for full-text thesis. e-books
and journals

Education portal to facilitate learning

Databasze of

rezearchers

leading  scientists/

Platform for issuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(a)-(111). (b)-(1v). (c)-(11). (d)-(2)
(a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(1). (e)-(11). (d)-(1v)

E154756333. 1



E154756334 2
6154756335 3
E1547563356. 4

Question Number : 34 Question Id : 6154751625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

-1 %1 GEi-11 = 319 AT Hig
T=i-1
(3-afvrzFm)
(a) r'a- gl
by TEEdE=
(c)  HIEE
(d) IIg T
= 20 0 foeT 3 4 O8 S 90

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

1547563233 1
6154756324 2
6154756335 2
6154756336 4

(1)

{11)

I

(feramo)
q0 o WY e, -g99 AT SHed W
BEL

(ii1) S SR /T T SEeE

{(1v)

Question Number : 35 Question Id : 6154751626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
1547562371



E154756338. 2
B154756339 3
6154756340, 4

Question Number : 35 Question Id : 6154751626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT § Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =34 ggE]
(3) =2 g g uHdi

(4) 22 79 T OO

Options:

6154756337 1
154756338 2
1547563239 2
5154756340, 4

Question Number : 36 Question Id : 6154751627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

6154756341 1
6154756342 2
6154756343 3
£154756344 4

Question Number : 36 Question Id : 6154751627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) T TETYT HATEE; A2 EE 3 T S A 997 9999 3 Eeadl 9
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Options:
£154756341. 1

E154756342 2
E154756343. 3
E154756344 4

Question Number : 37 Question Id : 6154751628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local 1n nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4) (1). (11). (1) and (1v)
Options:

E154756345 1
E154756346 2
E154r56347 3
6154756348 4

Question Number : 37 Question Id : 6154751628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafga § 4 31 w=iawiE g2 it ve9m Fifae 91 =T 55a % 2

2.

(1) AT T T &0
(11) e TgHv

i) gEw

(iv)  Foar Jiadd
(v) AR

(vi) B 398 Ja9H

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 37T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

5154756345 1
6154756346 2
6154756347, 3
6154756348 4

Question Number : 38 Question Id : 6154751629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E1547563459 1
6154756350 2
6154756351, 3
6154756352, 4

Question Number : 38 Question Id : 6154751629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFm oo Ty Auieq /gt 90§ auofig fasm OiFE wrEn (9 3 TEE wH
T2 ae SaeTHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh =
(3)  FEge gmg (4) ITEHITETE F5E
Options:

6154756349 1
E154756350 2
E154756351. 3



E154756352. 4

Question Number : 39 Question Id : 6154751630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

E154756353. 1
B154756354 2
6154756355 3
E154756356. 4

Question Number : 39 Question Id : 6154751630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g § § FH-51 9% T909 Foard Tadq e 99 (3 U9 O O @ ) F 359 1 i
27

(1)  @FAsa § 09 2138 761 % T550 &1 R

(2) Tl TE @9 E UE 2 1Y 3eE W O [ w7

(3)  WAGA 9F TIHE HAT

(4) TSI IE0 gRT SEa FEAENAT AR i s aan e

Options:

6154756353 1
6154756354 2
6154756355 3
6154756356 4

Question Number : 40 Question Id : 6154751631 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

B154758357. 1
61547568358 2
6154756359 3
E154756360. 4



Question Number : 40 Question Id : 6154751631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FAN T F A T Tavasad AUl 31T FEaTE T Sicdied #4 od J W 3 N Feated 5 5
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(3) A WgHW #I THA™ (4) ¥ =

Options:

BE154756357. 1
6154756358 2
6154756359 3
6154756360, 4

Question Number : 41 Question Id : 6154751632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E154756361. 1
E154756362 2
E154756363. 3
6154756364, 4

Question Number : 41 Question Id : 6154751632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fFa w=in g fvafaes =1 3 o oF e 8 3= 3 Tl ol 5 g #3
% T9 H A1 A1 8 7

(1) Tee favaia==g (2) Tafren fEvata=
(3)  Ariean favateEa (4) Tz favafarem
Options:

BE1547563561. 1
E154756362 2
E154756363. 3
6154756364, 4

Question Number : 42 Question Id : 6154751633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2} (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

BE154756365. 1
E154756366. 2
E154758367. 3
6154756368 4

Question Number : 42 Question Id : 6154751633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefcIfigd § 4 #H U 98 T-TR9 A FEERl F g2 a7
(i) @1 gmfer
(11) =4 919
(iii) 797 JEEH
(1v) AUed-fagH
(v)  JoHTHF 9

FATeEd el § 8 A7 39 3

(1) (1), (i) 37 (v (2) (1), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 3 ()
Options:

E154756365. 1
E154756366. 2
E154758367. 3
E154756368. 4

Question Number : 43 Question Id : 6154751634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
154756369 1
154756270 2
E1E475E271. 2
Gl5475E372. 4

Question Number : 43 Question Id : 6154751634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE T f91em 9fmg (v ©i & 2)

(2) AR Aaaeaal I09s (3 o1 =18)

(3)  OWAE T9EE 9 (AW i AE)

(4) o 1:1;~:|‘|$,:| R goar9q 9fg (U9 U U i)
Options:
£154756369. 1
£154756370. 2

6154756371 3
E154756372 4

Question Number : 44 Question Id : 6154751635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of yvoga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

6154756373 1

6154756374 2

6154756375 3

154756576 4

Question Number : 44 Question Id : 6154751635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FATTF- T80 WSl H AT i Wih w4 1 Efaigs 8§ @ w5 9 snem 20
(1) ¥ forem fifd-1968
(2) e foren fifa-19386
(3)  WRA H e faew i wfasy gfe, qoemn dw s wfde-2012
(4) T foiEm Hid-2019 F1 9
Options:
6154756373 1
E15475E274 2

E154756375 3
BE154756376. 4

Question Number : 45 Question Id : 6154751636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E154756377. 1
E154756378. 2
B154758379 3
E154756380. 4

Question Number : 45 Question Id : 6154751636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(iv) 9 Tl 1 "5
(v)  TEE T qidsE

Fefeafiad fasedi § O 3191 390 9

(1) (1), (i1) 37T (1ii) (2) (i), (ii1) 3R (iv)
(3) (ii1). (iv) 3T (v) (4) (1), (1) 371 (i)
Options:

E154758377. 1
61547568378 2
6154756379 3
E154756380. 4

Sub-Section Number: 4
Sub-Section Id: 61547576
Question Shuffling Allowed : Yes

Question Id : 6154751637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating demoecratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154751638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E154756381. 1
BE154756382. 2
E154756383. 3
61547563854, 4

Question Number : 47 Question Id : 6154751639 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

51547568385, 1
6154758386 2
6154756387, 3
E154756388. 4

Question Number : 48 Question Id : 6154751640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

E154756389. 1
6154756330, 2
E154756391. 3
E154756392, 4

Question Number : 49 Question Id : 6154751641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E1547563583. 1
E154756394 2
E154756395 3
E154756396. 4



Question Number : 50 Question Id : 6154751642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

61547563971

154756398 2

6154756399 3

154756400 4

Question Id : 6154751637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T : 46 H 50
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Sub questions

Question Number : 46 Question Id : 6154751638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AraaEd T (2) T F A9E
(3)  ifama fams (4) FfaHTEHARAT
Options:

5154758381 1
61547568382 2
6154756382 3
E154756384, 4



Question Number : 47 Question Id : 6154751639 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHTEa F R0 R 0 O =60 1 329 23717

(1)  TH &+ AHaa (2) 32N AHaa
(3) AV TaE ATFAE (4) Tgifa® AFad
Options:

E154756385. 1
E154756386. 2
E154756387. 3
E154756388. 4

Question Number : 48 Question Id : 6154751640 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) TEEHE T ==
(3) TSI wE (4) AH-Ta=ITH =deEn
Options:

E154756389. 1
B154756390 2
E154r56391. 3
6154756332 4

Question Number : 49 Question Id : 6154751641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
%  ITER Add F a9 F1 fF =9 1 JEr 9 22

(1) Fifq e T (2) wldHTaE $i s=ar
(3)  lafeens qiE (4) F@ AM % [GER] I G990 Y5 FAT
Options:

6154756393 1
E154756394, 2
E154756395 3
E154756396. 4

Question Number : 50 Question Id : 6154751642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



U9 @ad & a9 ° o@s &1 31 fJ=n 27
(1) Tafa 21 3=
(2)  TET qrfieE
(3)  HAHHEI GATEAH
(4) P ACFEA F @A T F FE
Options:
6154756397 1
6154756398, 2

6154756399 3
6154756400, 4

FPART II Forensic Sciernce

Section Id : 61547524
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 61547577
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154751643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The flash point of typical standard diesel 1s:

(1)  10°C - 20°C (2) 35°C - 40°C
(3) 60°C - 85°C (4) 110°C - 145°C
Options:

E154756401. 1
E154756402 2
E154756403 3
6154756404, 4

Question Number : 51 Question Id : 6154751643 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 10°C - 20°C (2) 35°C-40°C
(3) 60°C - 85°C (4) 110°C - 145°C
Options:

6154756401 1
6154756402 2
E154756403. 3
E154756404, 4

Question Number : 52 Question Id : 6154751644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Neutron activation analysis detects the presence of following 1n G.S.R

(1) Antimony and lead (2) Antimony and barium
(3) Barium and nitrites (4) Antimony and nitrites
Options:

5154756405 1
6154756406 2
6154756407, 3
E154756405. 4

Question Number : 52 Question Id : 6154751644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  udmei =i s (2) UEEAT 3T AHE
(3)  =fm ol AEgEs (4) TR SR T
Options:

E154756405 1
E154756406 2
6154756407 3
6154756408, 4

Question Number : 53 Question Id : 6154751645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Iron-tanin ink gave a blue colour to the line of writing due to the presence of indigo dve. It
turned black after some time because.

(1) Indigo dye got oxidized
(2) Iron-tanin components got oxidized

(3) Indigo dye got reduced

(4) Iron-tanin component got reduced

Options:

6154756409 1
6154756410 2
£154756411. 2
6154756412, 4

Question Number : 53 Question Id : 6154751645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HAE—2f1 TR B SEEE T % T F HA0 oA H O H G0 Ao w5 = FS G 98 FeEfanad |
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(4)  wiE-2FF gz w1 AGE A

Options:

6154756409 1
6154756410 2
6154756411, 2
6154756412 4

Question Number : 54 Question Id : 6154751646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The direction of stroke of ball-point pen lines can be determined by examining

(1) Gooping (2) Burr striations
(3) Hiatus (4) Escapement
Options:

BE154756413 1
6154756414 2
6154756415 3
6154756416 4

Question Number : 54 Question Id : 6154751646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
el e YA J Wil 72 ek 1 fEen w0 e wwr S e g 27

(1) T (2) = fEwmE
(3) wmeE (fagfa) (4) wEFTHe (Hi=A)
Options:

E154756412. 1
6154756414 2
E154756415 3
E154756416. 4

Question Number : 55 Question Id : 6154751647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which type of identification mark (Serial number) on metal surface cannot be restored after

obliteration?

(1) Cast marks (2) Engraved marks

(3) Punched marks (4) over stamped marks
Options:

6154756417 1
E154756418. 2
E154756419 3
E154756420 4

Question Number : 55 Question Id : 6154751647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
aifca® Tz T FEtaigd 3 o e mar e # W2 96 F 9 e T8t A 1 ahar 27

(1) oo e (2)  Ichifor TereA
(3) U= = (4) @fa-vz e
Options:

BE154756417. 1
B154756418 2
B1547564159 3
6154756420 4

Question Number : 56 Question Id : 6154751648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Diphenyl Amine Reagent (DPA) used for 1identification of explosive 1s prepared by dissolving
lgm of diphenylamine 1n 100 ml of whach of the following

(1) Conecentrated nitric acid (2) Concentrated hydrochlore acid
(3) Concentrated sulphuric acid (4) Concentrated Acetic acid
Options:

BE154756421. 1
B154r756422 2
E154r56423 3
6154756424 4

Question Number : 56 Question Id : 6154751648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faesies Al i 9F= o+ fom sEfEase vAEs fose (30 v) feetaiga 3 9 e 100 e

T | 1 T STSMETEETEEA 1 9 a2

(1) Al AT (2) HIZd FESFATRE 375
(3)  HIZd BoHRE A (4) =fEA ofafeF s
Options:

E154756421. 1
E154756422 2
BE154756423 3
B154r56424 4

Question Number : 57 Question Id : 6154751649 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which amino acid 1s present in hair medullar protein that i1s usually not a component of

proteins?

(1) Glycine (2) Citrulline

(3) Cystine (4) Proline
Options:

B154r56425 1
61547568426 2
6154756427 3
E154756428. 4

Question Number : 57 Question Id : 6154751649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  TesiEs (2) TzEH
(3) fa=m (4) WI=E=
Options:

BE154756425 1
6154756426 2
6154756427 3
6154756428 4

Question Number : 58 Question Id : 6154751650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The inert ingredient in aluminum phosphide tablet which prevents self 1gnition of phosphine

gas 1S :

(1) Ammonium carbamate (2) Sodium chlorate

(3) Potassium chloride (4) Diphenyl amine
Options:

B154r564259 1
6154756430 2
6154756431 3
E154756432. 4

Question Number : 58 Question Id : 6154751650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"
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(3)  TEITEH FANES i st .
Options:

BE1547564259 1
B154756430 2
E154756431. 3
6154756432 4

Question Number : 59 Question Id : 6154751651 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The process of reading or interpreting the effaced or illegible writings 1s:

(1) restoration (2) oblhteration
(3) decipherment (4) spheing
Options:

5154756433 1
6154756434 2
6154756435 3
E154756436. 4

Question Number : 59 Question Id : 6154751651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TH2T0 0 339 TS =Ed F a4 11 fHaee Fi uiw 2

(1) e (2) =
(3) T (4)  TF = A
Options:

5154756433 1
6154756434 2
6154756435 3
E154756436. 4

Question Number : 60 Question Id : 6154751652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The coefficient of reduction or form factor 1s calculated by the formula
(1) % gt> (Where ‘g’ is the acceleration due to gravity and ‘'t is the time taken)

(2) Av" (Where ‘A’ and 'n’ are constants and ‘v’ 1s the velocity of the projectile)

(3) W/!d> (Where ‘W' is the weight of the projectile and ‘d’ is the cross-sectional
diameter)

ldr -1

(4) 1.|'

(Where " 1s the originial radius (in calibres) of the projectile)

Options:

6154756437 1
154756438 2
£1547564329 2
6154756440, 4

Question Number : 60 Question Id : 6154751652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154756437 1
6154756438 2
£154756439 2
£154756440, 4

Question Number : 61 Question Id : 6154751653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Chronic poisoning due to lead 1s known as

(1) Saturnism (2) Arsenicosis
(3) Ptyalism (4) Hydrargyrism
Options:

E154756441. 1
E154756442 2
E154r56443 3
6154756444 4

Question Number : 61 Question Id : 6154751653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  HzH= (2) TEEHIEY
(3) zM@lTH (4) FEITTERS
Options:

61547564411
E154756442 2
E154756443 3
B154r56444 4

Question Number : 62 Question Id : 6154751654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



The time taken by an unretained species to pass through a chromatographic column 1s
known as

(1) retention time (2) lagtime
(3) flow time (4) wvoid time
Options:

E154756445 1
E15475644E8 2
E154756447 3
5154756445, 4

Question Number : 62 Question Id : 6154751654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  wferamo e (2) Ov=TEA T
Options:

5154756445 1
6154756445 2
6154756447 3
E154756445. 4

Question Number : 63 Question Id : 6154751655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which human DNA gquantitation standard was released by NIST for use i1n forensic
laboratories i 20077

(1) SREM 2372 (2) SRM 2513
(3) SEM 2317 (4) SERM 2732
Options:

61547564459 1
6154756450 2
6154756451 3
E154756452, 4

Question Number : 63 Question Id : 6154751655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T™ 3R vy 2372 (2) TH ¥W T 2513

(3) wH ¥R Uy 2317 (4) UH 3R UH 2732
Options:

5154756445 1
6154756450 2
6154756451 3
E154756452, 4

Question Number : 64 Question Id : 6154751656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Obliterations can be deciphered by taking photographs using

(1) IR radiations (2) UV radiations
(3) X-ray radiations (4) Visible radiations
Options:

E154756453. 1
E154756454 2
6154756455 3
6154756456, 4

Question Number : 64 Question Id : 6154751656 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

BE154756453. 1
6154756454 2
6154756455 3
6154756456, 4

Question Number : 65 Question Id : 6154751657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The percussion-lock firearms were discovered by

(1) Friar Bacon (2) Lous XIV
(3) James Forsythe (4) Schoenbein
Options:

BE154756457. 1
B154756458. 2
61547564559 3
6154756460, 4

Question Number : 65 Question Id : 6154751657 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) ==\ wAEd (4) THEEARA
Options:

E154756457. 1
E154756458. 2
B154756459 3
6154756480, 4

Question Number : 66 Question Id : 6154751658 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Toner type. toner fusion. splattering effect and drum defect marks are used to examine
following type of document

(1) Inkjet printed document (2) Intaglio printed document
(3) Laser printed document (4) Dot-matrix printed document
Options:

E154756461. 1
E154756462 2
E1547564E3. 3
E154756464, 4

Question Number : 66 Question Id : 6154751658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154756461 1
£154756462. 2
154756463 2
6154756464, 4

Question Number : 67 Question Id : 6154751659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following component of fingerprint residue reacts with silver nitrate to make

latent fingerprints visible?

(1) Chloride 1ons (2)  Amino acids
(3) Water (4) Glycols
Options:

E154756465. 1
E154r56466 2
B154r56467. 3
6154756468, 4

Question Number : 67 Question Id : 6154751659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  F=ATEs 3= (2) Uil 3
(3) = (4) TETEHA
Options:

E154756465. 1
E154756466. 2
B154r56467. 3
6154756468, 4

Question Number : 68 Question Id : 6154751660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Presence of phalomelanin hair pigments give hair

(1) Black colour (2) Reddish colour
(3) Brown colour (4) Whitish colour
Options:

6154756469 1
E154756470 2



E154756471. 3
B154r568472 4

Question Number : 68 Question Id : 6154751660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) =hlel (2) ==
(3 =1 (4) w4
Options:

E154756469. 1
E15475647°0 2
E154r568471. 3
E154756472 4

Question Number : 69 Question Id : 6154751661 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hot stage microscope 1s used in forensic examination of glass to measure

(1) Density (2) Heat resistance
(3) Refractive index (4) Durability
Options:

E154756473. 1
E154756474 2
E154756475 3
BE154756476. 4

Question Number : 69 Question Id : 6154751661 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547568473 1
E154756474d. 2
E15475E475 35



E154756476 4

Question Number : 70 Question Id : 6154751662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pin fire cartridges have

(1) A pin with one end protruding out of the cartridge and the other end 1s located close
to the primer mixture inside the cartridge

(2) Primer mixture 1s compressed in the rim
(3) Primer mixture compressed 1n the percussion cap fitted in the center of the base of
the cartridge

(4) A pin 1s the part of the mechamsm, which strikes the primer mixture of the cartridge

Options:

6154756477 1
6154756478, 2
6154756479 2
£154756420. 4

Question Number : 70 Question Id : 6154751662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154756477 1
E15475E478. 2
E154756479 3
6154756480 4

Question Number : 71 Question Id : 6154751663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Data can be retrieved from a mobile device by using which software

(1) Q- Pass- Analyzer (2) Pass-Analyzer forensic
(3) Oxygen forensic suite (4) Doc-center forensic
Options:

E154756481. 1
E154756482 2
E154756483. 3



E154756484. 4

Question Number : 71 Question Id : 6154751663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  SATFErE BRIEE T2 (4) T T BRIGE
Options:

E154756481. 1
E154r56482 2
6154756483 3
6154756484, 4

Question Number : 72 Question Id : 6154751664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

P 300 1s generated during random presentation of a different stimulus along with frequent
repeated presentation of same stimull in case of

(1) Brain finger printing (2) Lae detection
(3) DNA finger printing (4) Narco analysis
Options:

51547568485, 1
6154756486 2
6154756487, 3
E154756488. 4

Question Number : 72 Question Id : 6154751664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 7 T e (2) 3 IEEEHE!
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Options:

E154756485. 1
6154756486, 2
E154756487. 3
E154756488. 4

Question Number : 73 Question Id : 6154751665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Family Silphidae insects are forensically important and they belong to the order

(1) Diptera (2) Lepidoptera
(3) Coleoptera (4) Hymenoptera
Options:

B1547564859. 1
6154756430 2
E154756431 3
E154756492 4

Question Number : 73 Question Id : 6154751665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547564859 1
6154756430 2
61547564391 3
E154756492, 4

Question Number : 74 Question Id : 6154751666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statement depicts foot print ratio correctly?

(1) Heel length/ maximum foot length

(2) Maximum foot width/ maximum foot length

(3) Maximum foot width/ maximum toe length

(4) Maximum foot length/ maximum foot width
Options:

6154756492 1
E154756494 2
E154756495 3
B154756456, 4

Question Number : 74 Question Id : 6154751666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154756493 1
6154756494 2
6154756495 3
£154756496 4

Question Number : 75 Question Id : 6154751667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Flax fiber 1s derived from plants. The part of plant 1s

(1) Seed (2) Stem
(3) Leaf (4) Root
Options:

E154756437. 1
E154756498. 2
E1547564959 3
E154756500. 4

Question Number : 75 Question Id : 6154751667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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[a)
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(3) wm (4) =3
Options:

E154756457. 1
6154756438 2
6154756499 3
E154756500. 4

Question Number : 76 Question Id : 6154751668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Varnish 1s traditionally a combination of drying oll. a resin and a...

(1) Lacquer (2) Enamel
(3) Metal ink (4) Thinner
Options:

E154758501. 1
E154756502, 2
E154756503. 3
E154756504, 4

Question Number : 76 Question Id : 6154751668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) == (=) (2) AT
(3) W o (wnfeaE AR (4) T (77 grh)
Options:

6154758501, 1
E154756502 2
E154756503 3
E154756504, 4

Question Number : 77 Question Id : 6154751669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pitch of male human speech sound ranges between

(1) 90-140 Hz (2) 120-190 Hz
(3) 70-100 Hz (4) 80-150 Hz
Options:

E154756505. 1
B154758506. 2
6154758507, 3
6154756508 4

Question Number : 77 Question Id : 6154751669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 90 =47 & 140 727 (2) 120 %25 ¥ 190 =+
(3) 70 =45 ¥ 100 =4 (4) 80 7F ¥ 150 7
Options:

5154758505 1
E154758506. 2
6154756507, 3
E154756508. 4

Question Number : 78 Question Id : 6154751670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a swicide case, pistol was found tightly grpped in hand. This 1s suggestive of which of the
following condition

(1) Rigor mortis (2) Hypostasis
(3) Algor mortis (4) Cadaveric spasm
Options:

E154756505. 1
E154756510 2
6154756511 3
G154756851% 4

Question Number : 78 Question Id : 6154751670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATl F UF B ° (WA 519 Al d RSl 55 W 5| 9% Fefateg § # e sEen fi e w
SITRT FLAl 29

(1) ¥@ Fe (2) T Hporal
3 el i (4) e e
Options:

E154756509. 1
E154756510 2
6154756511 3
E154756851% 4

Question Number : 79 Question Id : 6154751671 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ABI prism 310 genetic analyzers use POP-4 and POP-6 for capillary electrophoresis.
POP stands for :

(1) Phenol optimized polymer
(2) Performance optimized polymer
(3) Polyacrylamide optimized polymer

(4) Pyrolysis optimized polymer

Options:

6154756513 1
6154756514 2
6154756515 3
154756516 4

Question Number : 79 Question Id : 6154751671 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
6154756513 1
6154756514 2

E154756515 3
E154756516. 4

Question Number : 80 Question Id : 6154751672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Hybridoma 1s a fused cell resulting from the fusion of

(1) Antibody and antigen
(2) Erythrocytes and natural killer cells

(3) Leucocytes and monocytes
(4) Plasma cells of spleen and myeloma
Options:

6154756517, 1
E1547568518. 2
E154756519 3
B154r56520. 4



Question Number : 80 Question Id : 6154751672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E15475E517. 1
E154756518. 2
B154756519 =
6154756520 4

Question Number : 81 Question Id : 6154751673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Legal limit of blood alcohol levels for driving in India as prescrmbed by Motor Vehicle Act. 1983

1S:

(1) 50 mg per 100 ml of blood (2) 60 mg per 100 ml of blood

(3) 30 mg per 100 ml of blood (4) 80 mg per 100 ml of blood
Options:

E1547568521. 1
BE154756522 2
BE154756523 3
B154r56524. 4

Question Number : 81 Question Id : 6154751673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T -TH A9 1988 = FER WHd | 96 =ie & G99 &6 ° Uehiad 61 sifashan 9w i #2027

(1) 50 tB.31. wid 100 foeh =4 (2) 60 TH.I. oid 100 foef ==
(3) 30 fa.71. wfE 100 fo=h == (4) 80 T8.71. ufa 100 T9=h =
Options:

BE154756521. 1
B154r58522 2
E1547568523 3
E1547568524. 4

Question Number : 82 Question Id : 6154751674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fuse bomb used for the distruction of enemy property generally contains intiating device as

(1) Detonator (2) Detonating cord
(3) Saftey fuse (4) DBooster
Options:

BE154756525. 1
B154756526 2
B1547568527. 3
6154756528, 4

Question Number : 82 Question Id : 6154751674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154756525. 1
B154756526 2
B1547568527. 3
6154756528, 4

Question Number : 83 Question Id : 6154751675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following type of 1mages store graphic information 1n a grid of individual pixels?

(1) Vector (2) Raster
(3) Bitmap (4) Metafiles
Options:

6154758529 1
E154756530. 2
E154756531. 3
E154756532. 4

Question Number : 83 Question Id : 6154751675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



BE154756529. 1
6154756530 2
E154756531. 3
61547568532 4

Question Number : 84 Question Id : 6154751676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following 1s a definite sign of death due to drowming

(1) Washerman's hand’'s and feet
(2) Presence of diatoms 1n bone marrow
(3) Absence of sand and mud in mouth and nostrils

(4) Absence of lathery froth in mouth and nostrils

Options:

6154756523 1
6154756534 2
6154756535 3
154756536 4

Question Number : 84 Question Id : 6154751676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154756523 1
6154756534 2
6154756535 3
154756536 4

Question Number : 85 Question Id : 6154751677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In listological section of teeth. enamel shows incremental lines which are known as

(1) Gingival fiber strmations (2) Striae of Retzius
(3) Lines of Owen (4) Hunter Schreger bands
Options:

E15475E537. 1



E154756538. 2
B154756539 3
5154756540, 4

Question Number : 85 Question Id : 6154751677 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1A F T [l @ § A TiAE W ST dedl 5 T EEnE 9l 2 91 39 eeiiad § ° =1 Fa
AT R?
(1)  foamas wEaw = (2) U HTE 7iEa
(3) =T WTE A (4) 2 =he S=H
Options:

BE154756537. 1
6154756538, 2
61547568539 3
6154756540 4

Question Number : 86 Question Id : 6154751678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Vowels are produced during speech by modifying the shape of the supra larvngeal vocal tract
in :

(1) Presegmental ways (2) Segmental ways
(3) Radical ways (4) Non-radical ways
Options:

51547565411
61547568542 2
6154756543 3
E154756544, 4

Question Number : 86 Question Id : 6154751678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154756541. 1
6154756542 2
E154756543. 3
E154756544, 4



Question Number : 87 Question Id : 6154751679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following program is run to examine network traffic

(1) Net dump (2) TCP dump
(3) Slack dump (4) Core dump
Options:

5154756545 1
6154756546 2
6154756547 3
E154756545. 4

Question Number : 87 Question Id : 6154751679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

J7a UATE o THE % U (eieiad 5 9 FE =\ T Fed a9l w2 v

(1) =esy (2) F =Tt =9
(3) T U (4) =R =Y
Options:

E154756545. 1
E15475654E 2
6154756547 3
6154756548, 4

Question Number : 88 Question Id : 6154751680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The forking of the tip of the bristle hair 1s a useful indicator for the family:

(1) Suidae (2) Fehdae
(3) Camdae (4) Bowidae
Options:

E154758549. 1
6154758550 2
E154756551. 3
E154756552. 4

Question Number : 88 Question Id : 6154751680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) =wHs 4) =as
Options:

6154758549 1
E154756550 2
E154756551. 3
B154756552. 4

Question Number : 89 Question Id : 6154751681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which printing method results in the variation in the thickness of the ink deposited on the

paper:

(1) Letter press printing (2) Liathography
(3) Gravure (4) Screen printing
Options:

E1547568553. 1
6154756554 2
E154756555 3
BE154756556. 4

Question Number : 89 Question Id : 6154751681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) oz 957 (+1 79 ggv) (2) Torem gEw (=fhumrt)
(3)  Ihivm (UfEm) (4) =HH ggur (ShA )
Options:

51547568553 1
61547568554 2
6154758555 3
E154756556. 4

Question Number : 90 Question Id : 6154751682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Forensic palynology 1s the study of which of the following

(1) Polymer for forensic purpose
(2) Bite marks for forensic purpose
(3) Lipprints for forensic purpose

(4) Pollen grains for forensic purpose

Options:

615475685571
6154756558, 2
6154756559 2
6154756560, 4

Question Number : 90 Question Id : 6154751682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154756557 1
6154756558 2
6154756559 3
£154756560. 4

Question Number : 91 Question Id : 6154751683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Buckling 1s a characteristics feature of :

(1) Scalp haiwr (2) Limb hair
(3) Pubic hair (4) Eyebrow hair
Options:

E154756561. 1
E154756562. 2
E154756563. 3
E154756564, 4

Question Number : 91 Question Id : 6154751683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154756561. 1
E154756562. 2
E154756563. 3
E154756564, 4

Question Number : 92 Question Id : 6154751684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Debriz materal collected from arson crime scence should be packed 1n

(1) Sealed paper bag (2) Plastic bag
(3) Cloth bag (4) Metal box with tight hid
Options:

E154756565. 1
6154756566, 2
E154756567. 3
E154756560. 4

Question Number : 92 Question Id : 6154751684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HATTSHT ATNGEIT B Fhieid Hofdl =1 977 Fefanad 3 8 fFeg i 3 =iee ?

(1) FrEFeg 44 (2) verfezs Fir Aefi |
(3) Uz =i A A (4) FHFL TFF T (R0 T oG & wed o
Options:

6154756565 1
E154756566, 2
E154756567. 3
E154756560. 4

Question Number : 93 Question Id : 6154751685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An indentation mark 1= caused by a tool. when 1t 1s pressed upon a surface

(1) With continuous impact of low angle 1n motion
(2) With non-continuous impact in motion

(3) With shding motion

(4) Without shiding motion

Options:



E154756569. 1
B154r56570. 2
B1547568571. 3
E1547568572 4

Question Number : 93 Question Id : 6154751685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et e W Tt aitem g Fefeiad 1 o f5a un g9 seH 8@ sq fus #iiE w2 27
(1) = Ta9E F0 W i F0e 9

(2) A H EEa g9 3

(3) TEEem A=

(4) T TFoem e T
Options:
6154756569, 1
6154756570 2
6154756571 3
6154756572 4

Question Number : 94 Question Id : 6154751686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term”stutter” band 1s usually used for DNA fragments that are

(1) One repeat unit shorter than the expected band
(2) Two repeat units shorter than the expected band
(3) Five repeat units longer than the expected band
(4) Three repeat umts longer than the expected band

Options:

6154756573 1
6154756574 2
6154756575 3
6154756576, 4

Question Number : 94 Question Id : 6154751686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

21 UH U % WS % {70 W T TS el 84S eterigd 8 @ R 7 7
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Options:

6154756573 1
£154756574 2
E154756575 2
6154756576, 4

Question Number : 95 Question Id : 6154751687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Gerald Edelman and Rodnev Porter shared a Nobel prize in 1972 for revealing the structure

of

(1) Immunoglobulins (2) Immunogens

(3) Haemoglobin (4) Spermatozoa
Options:

E154756577. 1
E154756578. 2
B154756579 3
6154756580, 4

Question Number : 95 Question Id : 6154751687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TeE USeH 31 TeAl qiet =i a4 1972 # Ffefiga @ 4 frashi gramnst & weligaea % fou g =g
T AEe TR T3

i

(1)  zoEreEeE (2) T
(3)  wMresE (4) TFAHZrEIET
Options:

B154756577. 1
B154756578. 2
E1547568579 3
6154756580, 4

Question Number : 96 Question Id : 6154751688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following compression standards were recommended by NIST for fingerprints?

(1) Run length coding (2) Wavelet scalar quantization
(3) JPEG compression (4) Huffman coding
Options:

E154756581. 1
6154756582, 2
E154756583. 3
E154756584. 4



Question Number : 96 Question Id : 6154751688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s T8 % o0 19 e vm A ° Fefaiaa @ ¥ e odiea e 6wt oo

(1) 7 =g =i (2) TIEZ T FETIEAIA
(3) =z FIE (4) TFET W
Options:

5154758581, 1
E154758582. 2
61547568583 3
E154756584. 4

Question Number : 97 Question Id : 6154751689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Greenish brown staiming of superficial veins was observed on the sides of abdomen and
thighs of a dead body. This condition 1s known as

(1) Marbling (2) Livor mortis
(3) Coloricity (4) Adipocere
Options:

E154756585. 1
E154756586. 2
E154758587. 3
6154756588, 4

Question Number : 97 Question Id : 6154751689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o | 7 =1 A A B Y

(1)  =mEfer (2) o= mifeg
(3)  TewiEEn (4) viETEER

Options:

6154756585 1
6154756586, 2
6154756587, 3
6154756588 4

Question Number : 98 Question Id : 6154751690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A defect 1n the type written document in which a character prints a double impression with
the lighter one shightly offset to the right or left, 1s known as

(1) Off-1ts-feet (2) Rebound
(3) Offset printing (4) Type-face defects
Options:

51547585859 1
6154758530, 2
61547585391, 3
E154756592, 4

Question Number : 98 Question Id : 6154751690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT oo 1 i | T e e | M o e TR M e B ot A e Bt D R B e 0 1 £
Teag A % ¢ 36 Fefenaa |3 o FEe w5 4 A A v

(1)  #ATF-3Z8-F2 (2) TErss
(3)  wATREe fufEm (4) ZET-HH TFFE
Options:

E154756589. 1
B154756590 2
6154756531, 3
61547568532 4

Question Number : 99 Question Id : 6154751691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
During forensic examination of glass, the edge thickness can be measured by

(1) Spherometer (2) Micrometer
(3) Tapeko meter (4) Spectrophotometer
Options:

E1547565353. 1
61547565394 2
E154756595 3
E154756596. 4

Question Number : 99 Question Id : 6154751691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T = A F= F S0 91 % G127 = 519 HEEnEgd 9 ° R 99 9 30 S e ¢

(1)  —FE= (2) T

(3)  TOEEHE (4) TUFIFEHZ
Options:

6154756593 1

E154756594 2

6154756595 2

6154756596, 4

Question Number : 100 Question Id : 6154751692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Darker of the crossing lines appears to be uppermost whether it is or not. This phenomenon

15 known as

(1) Specular reflection (2) Fluorescence
(3) Optical 1llusion (4) Infrared luminescence
Options:

6154758597 1
E154756598. 2
E154756599 3
E154756600, 4

Question Number : 100 Question Id : 6154751692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o1 Tt Tanai o smEpa sifus TR an ged S g odt 2 e A 2w awga: B siyan 99| 59 giee

1 FefaEa § ® e g 2 S 27

(1)  =va9s giatee (2) TR
(3) RER L (4)  TETF TAaEIA
Options:

B154758597. 1
61547568538 2
E154756599 3
E154756600, 4

Question Number : 101 Question Id : 6154751693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following antigen belong to Kell system

(a) Cote (b) A2
(c) W5 (d) dJza

Choose the correct-option

(1) (a) and (c) (Z) (b) and (c)
(3) (b) and (d) (4) (a) and (d)
Options:

E154756601. 1
E154756E02, 2
E154756603. 3
B154756604, 4

Question Number : 101 Question Id ;: 6154751693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frfefas § 3 #1991 9fH99 F Tl 3 S T 27

(a) iz (Cote) (b) U2 (AZ)

(¢  =%=9 5 (Wb) (d) FwHT (Jsa)

(1) (a) 7 (o) (2)  (b) 3 ()

(3)  (b) F () @) (a) ¥ (@)
Options:

E154756601. 1
E154756602 2
E154756E03. 3
E154756604, 4

Question Number : 102 Question Id : 6154751694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If the mother and father both belong to A’ blood group. the possible blood groups of offspring
are

(a) A (b) B
(c) AB (d O

Choose the correct option

(1) (a) and (c) (2) (b) and (c)
(3) (b) and (d) (4) (a)and (d)
Options:

E154756605. 1
E154756E06 2
E154758E07. 3
E154756608. 4

Question Number : 102 Question 1d : 6154751694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Afg T 3T T 2E1 F T T CA'E A1 At & 9T 9 T8 w6

(a) A b) B
(c) AB (dy O

(1) (a) 37 (o) (2)  (b) 3 (c)
(3) (b)#FT @ (4) (a) # (d)
Options:

6154756605, 1
E154756E06 2
E154756607. 3
E154756608. 4

Question Number : 103 Question Id ;: 6154751695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following 1s true for Duffy system?
(a) Controlled by two genes Jka and Jkb
(b) Consist of Fya and Fyb

(c) Discovered in 1950
(d) Discovered by Mann and associates

Choose the correct option

(1) (a) and (c) (2) (b) and (c)
(3) (b) and (d) (4) (a)and (d)



Options:

6154756609 1
154756610 2
£154756E611. 2
6154756612, 4

Question Number : 103 Question Id : 6154751695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=1 77 % H  Fetaaa § A w8 w27
() % Jka ¥t Jkb 7% 51 W4 50 AEGE 7
(b) zaH Fya 3 Fyb e 7
(€ = 1950 ¥ sEE o1 § Td =9 20
(d)  ©F 3T FEEE A EE a A

(1)  (a) 3 (c) (2) (b) #T ()
(3)  (b) #HT (d) (4) (a) 3 (d)
Options:

6154756609 1
6154756610 2
E154756611. 3
E154756612. 4

Question Number : 104 Question Id ;: 6154751696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the two statements are true for “Stochastic effect™
(a) It happens when amplifing very low level of template DNA
(b) It holds true for homozygotic alleles

(c) It 1s relevant for one of the two alleles of a heterozyvgote that fail to be detected
(d) It holds true for large quantity of template DNA

Choose the correct option

(1) (a) and (b} (2) (c) and (d)
(3) (a) and (c) (4) (b)and (d)
Options:

BE154756613. 1
E154756614 2
6154756615 3
E154756616. 4

Question Number : 104 Question Id : 6154751696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFefeifiga 9 & 949 § 21 F99 T99T™ T9E % o2 0 5 2 7

(a) T 79 gfed AT 2, T4 A e W F € U A F afed e A

(b)  T= THITHA TS F WEA ° T 2
(¢0 == faum affim =1 vefiat @ @ 39 v & fow swarhi 2, faeeht v =40 = ot 2
(d) =8 ¥ U9 U HE 6 931 /E % o = B

(1)  (a) 37 (b) (2) (o) # N (d)
(3)  (a) 3 (o) @ () = (d)
Options:

BE154756613. 1
E154r56614 2
6154756615 3
E154756616. 4

Question Number : 105 Question Id : 6154751697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The field sobrmety test performed by police officers. on the spot during drunken driving case
are

(a) Glabellar reflex (b) Horizontal gaze nystagmus
(c) Tonic labyrinthine reflex (d) Walk and turn

Choose the correct option

(1) (a) and (c) (2) (b) and (c)
(3) (d) and (a) (4) (b)and (d)
Options:

BE154756617. 1
6154756618 2
6154756619 3
6154756620 4

Question Number : 105 Question Id : 6154751697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



791 1 7T H AEA A o A | Gierd AT g R SHare dosne A9 O w9 s A

(@)  TerSIeR R (b) &fas Freemm
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(1) (a) 311 (c) (2) (b) #E (c)
(3) () 3 (a) @) (b) ¥R (@)
Options:

B154r56617. 1
6154756615 2
6154756619 3
6154756620 4

Question Number : 106 Question Id : 6154751698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The human voice varies in the same person also from time to time due to

(a) Emotions (b) Rate of utterance

(c) Birth date and time (d) Transmission channel

Choose the correct option

(1) (c) and (a) (2) (b) and (d)
(3) (a) and (b) (4) (d)and (c)
Options:

E1547566821. 1
BE154756622 2
BE154756E23. 3
B154r56624. 4

Question Number : 106 Question Id : 6154751698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154756621 1
£154756622. 2
E154756E232 2
6154756624 4

Question Number : 107 Question Id : 6154751699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following characteristics are used to identify documents produced by laser
printers

(a) Counterfeit protection system (CPC) code

(b) Branding and lining

(c) Drum defects

(d) Indentations

Choose the correct options

(1) (a) and (b) (2) (b) and (d)
(3) (b) and (c) (4) (a) and (c)
Options:

E154756625 1
E154756626. 2
E154756E27. 3
E154756628. 4

Question Number : 107 Question Id : 6154751699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=TT % Orem § 3o e Fi URaE w9 & fov Gmtahaa d o A sifiesn = v B s
4
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(a) e T=a meem Tt (Hrdet) we (b) ®TS &1 AR T

() =¥ =awA (d) =ZTFE

()  (a) 3% (b) (2) (b) R (d)

(3)  (b) 3 (c) 4) (a) ¥ (c)
Options:

E154756625. 1
E154758E26, 2
E154756627. 3
BE154756628. 4



Question Number : 108 Question Id : 6154751700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ilheit hiquors are known as

(a) Thunder (b) Hooch
(c) Charlie (d) Moonshine

Choose the correct option

(1) (a) and (b) (2) (b) and (d)
(3) (c) and (d) (4) (a)and (c)
Options:

6154756629 1
E154756630. 2
E154756631. 3
E154756632. 4

Question Number : 108 Question Id ;: 6154751700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(a) =T (b) =A

(c) AT (d) T

(1)  (a) 311 (b) (2)  (b) ¥ (d)

(3)  (c) ¥R (d) @) (a) = (c)
Options:

BE154756629. 1
6154756630, 2
E154756631. 3
E154756632. 4

Question Number : 109 Question Id : 6154751701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Laboratory testing for ethyl alecohol could be done by

(a) Cavett's test (b) Fujiwara test

(c) Dille-Koppany test (d) Kozelka and Hine test

Choose the correct option

(1) (a) and (d) (2) (b) and (a)
(3) (c) and (b) (4) (d) and (c)

Options:



BE154756633. 1
E154r56634 2
6154756635 3
E154756636. 4

Question Number : 109 Question Id : 6154751701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS STFFIEE T TETTINE] THA fetatad § ¥ g gl  oveay § R S aear 27

(a) ez whEm (b) FEEE T
(c) feet Ot g (d) e AT EEA WA
(1)  (a) 31 (d) (2) (b) # (a)
(3) (o) ¥ (b) 4 () 37 (o)
Options:

6154756633 1
6154756634 2
E154756635. 3
E154756636. 4

Question Number : 110 Question Id : 6154751702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The rfling in the barrel of the firearm 1s done to

(a) stablize the bullet flight with nose-on position

(b) decrease the recoil
(c) decrease the air-resistance
(d) enhance the working of action mechanism

Choose the correct option:

(1) (b) and (d) (2) (c)and (d)
(3) (d) and (a) (4) (a)and (c)
Options:

B154758637. 1
E154756638. 2
6154756639 3
E154756640, 4

Question Number : 110 Question Id : 6154751702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT A | Fefatad o 9 R 3evw | gaa e s 27
(a) A= =l HTg | Tt = g TG w O F w o

(b)  TFHAE FEE T & T
(¢  ag-ufauy =1 weH + fou

(d)  =FE-TEATEE * FEE F §EE F e

(1)  (b) 37 (d) (2) () =W (d)
(3)  (d) 3 (a) @ (a) 7 (0)
Options:

E154756637. 1
E154756638. 2
6154756639 3
E154756640 4

Question Number : 111 Question Id : 6154751703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A non- genuine signature can be detected due to

(a) Size and spacing only
(b) Inherent defects in the line quahity
(c) Writing slant only

(d) Defects 1n the form and its formation

Choose the correct option

(1) (a) and (b) (2) (a)and (c)
(3) (b) and (c) (4) (b) and (d)
Options:

6154756641 1
E154756642 2
E154756643 3
E154r56644, 4

Question Number : 111 Question Id ;: 6154751703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fz (Feedl) TEaTER A=t 5 & fREeh sTaw W st R S w2

(@)  Fad ATRE AR T
(b) T i ET H AT A
(c) Fael = AT

(d)  TEY #HE i H i

(1) (2) 37 (b) (2) (a) ()
(3)  (b) #H (o) 4 (b) ¥ d)
Options:

E154756641. 1
E154r56642 2
E154r56643 3
E154756644, 4

Question Number : 112 Question Id : 6154751704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Which of the following information about the analyte could be obtained upon analysis by
LC-MS:
(a) Molecular mass (b) Crystalhimty

(c) Luminance (d) Concentration

Choose the correct option

(1) (a) and (b) (2) (b) and (c)
(3) (c) and (d) (4) (d) and (a)
Options:

E154756645 1
E154r75664E 2
E154r56647 3
6154756648, 4

Question Number : 112 Question Id : 6154751704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



LC-MS % faveiyn & f9veias dcd & 9¢ ° H=ifeiigd 4 9 S = A5l OTH =i = gl 77

(a)  SAUEH ZHE (b) TETE
(c)  =EIfaH=El (d) =mEm
HE famey gHT -

(1) (a) #7 (b) 2) (b FF (c)
(3) (o) 3R (@) (4 (d) 3" (a)
Options:

E154756645 1
6154756646 2
E154756647. 3
6154756645, 4

Question Number : 113 Question Id : 6154751705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
When a person tries to defend himself against an attack with sharp weapon. defence wound
appear an which part of ns body
(a) Radial aspect of forearm (b) Flexor surface of forearm

(c) Ulnar aspect of forearm (d) Palms

Choose the correct option

(1)  (a) and (b) (2) (b)and (c)
(3) (c) and (d) (4) (d) and (a)
Options:

BE1547566459 1
6154756650 2
6154756651, 3
6154756652 4

Question Number : 113 Question Id : 6154751705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e HI3 T4 TE i TRET 80 BER % BEe @ S=H W WAE Rl B, 91 39 W+ R Be W

(@) W& 1 B O (b) VAT T AFA Taw
()  waE I ATHIEH Tae] (d) ==t
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(3) (o) W (d) 4) (d) =7 (a)



Options:

6154756649 1
£154756650. 2
£154756E51. 2
6154756652, 4

Question Number : 114 Question Id : 6154751706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The expression of which of the two RT- PCR based analysis can be used for the identification
of saliva

(a) Kallikrein 3 (b) B-spectrin
(c) Histatin 3 (d) Statherin

Choose the correct option

(1) (a) and (d) (2) (b) and (d)
(3) (a) and (c) (4) (c)and (d)
Options:

6154756653 1
E154756654, 2
E154756655 3
E154756E56. 4

Question Number : 114 Question 1d : 6154751706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
[N 2 Bt 1 e N et e = e e SO 1 = e e 1111 £ = s e M ot o = o

(a)  FEHE-3 (b) i—TafFz
(c) fefo-3 (d) T2UH

(1)  (a) 3 (d) (2)  (b) ¥ ()
(3)  (a) #F () @ () ¥ (d)
Options:

E154756653. 1
E154756654 2
6154756655 3
E154756656. 4

Question Number : 115 Question 1d : 6154751707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The requirement to collect admitted standards should be:

(a) Adequate amount of writing
(b) Writings written at different time intervals
(c) Contemporary writings

(d) Writings written in different scripts

Choose the correct option

(1) (b) and (d)
(2) {c) and (d)
(3) (a) and (c)

(4) (a) and (b)
Options:
61547566571
6154756658 2
6154756659 2
E1547E66E0. 4

Question Number : 115 Question Id : 6154751707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
THFd HF F T 0 S1Ed 2 =0E -

(a) =g i gETd "
(b) 99 AEITETE ° s wEE
{c} !I I.-Elral‘ .-E ﬁ‘ §:|

(d)  HASTT-3 AN ° g S

(1)  (b) 3 (d)
(2)  (c) # (d)
(3)  (a) FW (c)

(4) (a) 3 (b)



Options:

6154756657 1
154756658 2
£154756E859 2
154756660, 4

Question Number : 116 Question Id : 6154751708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statments-one 1s labelled as Assertion (A) and the other 1s labelled as

EReason(R)

Assertion (A):  Solution of chloral hydrate in alchol called as “Knock out drops” 1s used for

robbery

Reason (R) : “Knock out drops” renders a person helpless immediately

In the light of the above two statements, choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

6154756661 1
154756662, 2
154756663 2
6154756664 4

Question Number : 116 Question Id : 6154751708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 5w o1 9l § | uh sty (A) R 9T wRe (R) #

ATFAT (A) : T 32 IF F A U T UeFied § Feiiel 815 Hl Hiel Shdl H 9T Bl 2
Fr0 (R) : ‘A6 132 S8 (el =i i dohie 49 o491 od 2

ST 2E1 Al ® wed 4 wE e 9

(1)  (A)ya= (R) 5M1 T8t 7, 310 (R). (A) 1 T4 =am= 2

(2)  (A) R (R) ZH T@l 2, SR (R). (A) F1 o1 =men 76 2

3) (AFE?E W (R ¥EAE

4) (A= (R)TIz
Options:
6154756661, 1
6154756662 2
6154756663 2
E1547E6EE4. 4

Question Number : 117 Question Id : 6154751709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements-one 1s labelled as Assertion (A) and the other 1z labelled as

Reason (R):

Assertion (A): In tmple-quadrupcle tandem mass spectrometrv.collision induced
dissociation occurs in second gquadrupole

Reason (R) : m/z separation of analyte occurs 1n the second quadrupole

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1 false but (R) 1s true

Options:

154756665 1
E154756EEE. 2
6154756667, 2
6154756668, 4

Question Number : 117 Question Id : 6154751709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr=r fam =1 o d @ v iy (A) @ 3E FE (R) 7

T (A) : e Farge Fo0 9 Tiogmd § T Ui faee g 9gvs | gfed = 2|
FE (R) : 3992 F1 m/z TUFF g =S | 9d w5 |

ST 21 U1 o HeH H HEl e T,

(1)  (A) 3T (R) 31 573 3, aa1 (R), (A) i T8 =aw=n 2

2 (A) ¥ R)3IE FE E, W (R), A) Fi 7 w17 2

(3) (A)&F 7, 70 (R) @4 7

(4) (A == 7 991 (R) ¥

Options:

6154756665 1
615475666, 2
6154756667, 3
6154756668, 4

Question Number : 118 Question Id : 6154751710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements-one 1s labelled as Assertion (A) and the other 1z labelled as

Reaszon (R):

Assertion (A) : Tremors are the deviations from uniform stroke due to lack of skill or self
consciousness or to the hesitation which 1s the result of copving or
imitating.

Reaszon (R) : The characteristics of tremor of fraud are inequality In movement at any

place 1n any stroke. with other wise very strong and vigorous stroke.

In the hight of the above two statements, choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

6154756669 1
6154756670, 2
154756671, 2
154756672, 4

Question Number : 118 Question Id : 6154751710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F= fom =1 FoET 7 0 UF AGFE (A) 3 70w (R) B

AGFA (A) : F91, FI9 AYTT 0 S99 F1 FH T941 FaF 9 F gl auar 95 F 9ieny 2,
F A AHEY TE=EeH 71 F
FR0 (R) : F2 =1 4 F97 i fagman 2 7 i of w2 % el off =m % guem 9 deean w2 T

9 ST FUA F Tl ° wE fawen g

(1) (A 37 (R) A1 981 2, 37 (R). (A) #1 931 =aw=a 2
(2)  (A) #=R (R) =41 521 2, 517 (R). (A) il W31 == 991 2
(3) (A @A 2, g (R) 794 7

(4) (A 7TeE R g (R) A2
Options:
6154756669 1
6154756670 2
6154756671 3
E1E47EEE72. 4

Question Number : 119 Question Id : 6154751711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements-one 1s labelled as Assertion (A) and the other is labelled as

Reason (R):
Assertion (A):  Toxic response increases when benzodiazepines are muxed with aleohol
Reason (R) : Co-admimstration of aleohol and benzodiazepines cause an additive

interaction of both drugs on their depressant effects

In the hight of the above two statements choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options:

154756673 1
E154756674 2
6154756675 2
6154756676, 4

Question Number : 119 Question Id : 6154751711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



H 73U 1 YA 7 ¥ U SATaEYA (A) 317 350 w0 (R) 7

ATTFIA (A) : UohTRd H SSSEATE Wi #9 W Evs= s|iEn § Atvatg w6 )

0 (R) : UehiEiel 3 SSISESNET % UF 919 U5 BH % A0 31 AN F 6 A9 U6 W

(1) (A) 3 (R) 3F =4 2, 31 (R), (A) F1 =781 =me= 2
(2)  (A) i (R) IFT |81 3, FA (R), (A) Fi Wal =90 T4 &
(3) (A= z, Fa R) W 2

4 (A 7em 2 g R) 9 2

Options:

6154756673 1
6154756674 2
E154756E75 2
154756676, 4

Question Number : 120 Question Id : 6154751712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements-one 1s labelled as Assertion (A) and the other 1z labelled as

Eeason (R):

Assertion (A):  Existance of heteroplasmy 1= one of the biggest problems of working with
mt DNA.

Reason (R) : Heteroplasmy 1s the most hkely result of the errors or mutations that

happen during mt DNA

In the hight of above two statements. choose the correct option

(1) Both (A) and (R) are true and (R) 18 the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (4)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options:

E15475EE7Y. 1
154756678, 2
6154756679 2
6154756680, 4

Question Number : 120 Question Id ;: 6154751712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e U T FUAT ® W U SAHHIA (A) 3 5 FE (R) B

AFIA (A) : 77 -3, TA. T F FY FH FA T FATSHI I A T T3 A § H 0 2

FM0 (R) : "8 A-S1.0A.0. F Uager F SRA FE T A IORGAT F R BT i 59E g6

e Bl 7

(1)  (A) 31 (R) 31 =71 =, 991 (R), (A) =l H=1 == 2
(2) (A 3 R) A FA E, W (R). (A) Fi 7= =men = 2
(3) (A) @Az, @A (R) 791 46 7

4 (AT E, |/ (R)TE R

Options:

E15475EE7Y. 1
6154756678, 2
6154756679 2
6154756680, 4

Question Number : 121 Question Id ;: 6154751713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements-one 1s labelled as Assertion (A) and the other 1s labelled as

Reaszon (R):

Assertion (A) : The speed of burning of black powder and certain degree of its strength 1s
controlled by the size of granulation

Reason (R) : As the size of granulation decreases. the strength of powder increases upto

certain point. However, the speed of burning reduces when powder 1s made

very fine, like dust. because all the spaces between the grains are filled up

In the light of above two statements, Choose th correct option

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1= false but (R) 1s true

E154756681. 1
BE154756E82. 2
E154756683. 3
6154756654, 4

Question Number : 121 Question Id : 6154751713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= fom 21 ot ©§ & wF AfEeE (A) 3 g R (R) 2

ATTFHUT (A) : 545 TS & Taei= ] T 3T FREl SEH1 G071 FON9a 5 AL § FHaE w2

F10 (R) : 7@ F(19a4 1 AR T2a] WSS 6l GHal § F9 75 aF deiail widl | TYTd, e 9Sst H
gt 1 WiTq 2(d G&H FHET ST & a1 saoH i T 592 S0 8 F41 76 HHET & 7% F T W A6 2l

T 21 BT F T2l 9 TE e g9HT

(1)

(2)

(3)

(4)

Options:

(A) A1 (R) =T T# 7, SR (R). (A) =i T2 = 2
(A) =R (R) 5H1 @@t 7, W (R). (A) =i =&t =amen 431 =
(A) 77t 2, T (R) 7Ted 2

(A) e 2, fFg (R) &8t 2



E154756681. 1
B154r56E82. 2
E154756683. 3
6154756654, 4

Question Number : 122 Question Id : 6154751714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements-one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R):

Assertion (A):  Eyeballs become flaceid after death

Reaszon (R) : There 1s fall of intraocular pressure from approx. 20 mm Hg to 12 mm Hg

within one hour after death

In the light of the above two statements, Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2 Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

6154756685 1
154756686 2
E154756E87. 2
6154756688, 4

Question Number : 122 Question Id : 6154751714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



H= f2u 2 wul | B uF Aty (A) # g8 FE (R) 7

AfeeRYA (A) : 75 MieT geaua =9 7 S 2

FA0 (R) : G UF G2 F Ao 334 TEF 2@ § T 20 fefmier e ¥ 12 fefie e #1 s

LI

TR FF1 FIE] F FEH H HAl weT g

(1) (A # R) A =4 &, w7 (R), (A) F1 78 =m= 2
(2)  (A) I R) FA FE F, A0 (R). (A) F1 7 =wen Tw=> e
3) (A=, Fg ®) ™92

(4) (A 74 7, g (R) 741 2

Options:

154756685 1
6154756686, 2
6154756687, 3
6154756688, 4

Question Number : 123 Question 1d : 6154751715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0O



Gaven below are two statements-one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R):
Assertion (A):  Forensic examination of paint requare matching of lavers of paint chip.
Reason (R) : Number of layers, sequence of layer and colour of each layer 1s matched for

positive 1dentification
In hight of the above two statements, choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1= false

(4) (A) 1= false but (R) 1s true

Options:

154756689 1
E1547566890. 2
6154756691, 2
6154756692, 4

Question Number : 123 Question Id ;: 6154751715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

= 73U T FYAT 7 ¥ U SATTFYA (A) 3T 5 w0 (R)

ATTFIA (A) : TEIHAE TIT & TS WE0 & fon Te $i aht w1 faee s 2

F1001 (R) : Ta1 =i =1, Ta1 1 HH A T3 9 % 1 ok {4 | WeRiens 9ion Hed 7
P 21 FUA F F24 § A e gh

(1) (A) 3T (R) 3H &3 2, 71 (R), (&) F 98 =men 2

(2) (A3 (R) 2F1 59 &, W (R). (A) 1 T# =3 77 2

(3 (AFFE, W (R) 5754 7

(4)  (A) #3152, 31 (R) 903 2



Options:

6154756689 1
£154756690. 2
£154756691. 2
6154756692, 4

Question Number : 124 Question Id : 6154751716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements-one 1s labelled as Assertion (A) and the other 1z labelled as

Reason (R):

Assertion (A) :  Injury penetrating the dermal layer, through dermal papillae, would result
in ridges not being regenerated

Reason (R) : Injury penetrating to epidermal laver, would repair themselves as they

were prior to Injury

In the light of the above two statements, choose the correct option;

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

6154756693 1
£154756694 2
£1547566895 2
6154756696, 4

Question Number : 124 Question Id : 6154751716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



H= fam =1 oAt 8 9 v Afawua (A) A1 790 F=E (R) F

. - R o, ), Ty X T . r [ =
STTFA (A) : T3 9T T 2R o= i Td F GGG 91 IROTEEEY FieE oA Ta a2l 7

F107 (R) : o991 & 39 WA F S99 92 =4 2 9 A0 39 56 F smema @ gd fmme Al
T ST AT F HeH § HAl Eed g
D) @ @) ®), Q) F 7 e

(2) (A 3R (R) ZF @F E, W (R), (A) =1 #E = 16

(3) (AT E, g R) T

-

(4) (A7 2, TR (R) &1

Options:
154758693 1

E154756694 2
E154756695 3
E154756636. 4

Question Number : 125 Question 1d : 6154751717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Gaven below are two statements-one 12 labelled as Assertion (A) and the other 1z labelled as

Beazon (R):

Assertion (A) : For carbon tetrachloride molecule. Raman Shifts are 1dentical if excitation

15 carried out with an argon-ion laser or helium-neon laser

Reason (R) : Magnitude of Raman Shift 1s independent of the wavelength of excitation
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:
E1547566497. 1



E154756698. 2
E1547566959 3
B154756700, 4

Question Number : 125 Question 1d : 6154751717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= o 21 FYE B 0 uF AweE (A) @7 g Fm (R) F

AR (A) : TG IHT =] AT AH - TS FUT S eET HAE S5 F WY h Jd 2 Al e

FIFANIES S F for T farde v w2

FA (R) : 359 TIHA F F0UT2EA F AW 0 [0 F AT TEET 2|
ST ZE FA F He5H 4 TF e g
(1)  =F (A mE (R) T 3, 5 (A) F1 o wfysts (R) 2

@ = (A IR R) TA E, 5w (R) F W it (R) 95 2

(3) (A) -":F"-ﬁ %'. ':"‘Iir-h-i (R) T4 —;'f

(4) (A TEd 2, SfFA (R) TE 2

Options:

61547566597 1
154756698 2
6154756699 2
6154756700, 4

Question Number : 126 Question Id ;: 6154751718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements-one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R):

Assertion (A):  No burning. blackening or tattooing phenomenon may be observed around
the entrance hole in close contact gunshot wound

Reason (R) : The entire ejecta. like projectiles. smoke, semi-and unburnt particles. and

hot gases enter into the target

In hight of above two statements, Choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options:

6154756701 1
6154756702, 2
154756703, 2
6154756704 4

Question Number : 126 Question Id ;: 6154751718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =F (A) ™ ®R) T 7, 30 (A) i 78 s1fa=iw ®) 2

(2) = (A) 3T (R) FF E, 3R (R) F1 #F wfa=ats (R) 96 2

(3) (A) P2 | _F;, RlEm (R) =4 2

(4)  (A) 74 7, =i (R) &9 7

Options:

154756701 1
6154756702, 2
6154756703 3
6154756704, 4

Question Number : 127 Question 1d : 6154751719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements-one 1s labelled as Assertion (A) and the other 1= labelled as

Reason (R)
Assertion (A) :  Enzvmatic digestion technique 1s used to extract diatoms from body tissues
Reason (R) : Diatoms have an extracelluar coat composed of magnesium

In Light of the above two statements. choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true
Options:

6154756705, 1

6154756706, 2

6154756707, 3

6154756708, 4

Question Number : 127 Question Id : 6154751719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= T30 21 Fu § W T ATHEO (A) SR 5T HE (R) F
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3) (A=A, fFa R) @2

(4 (A 7TeA 7, g (R)TF =

Options:

6154756705 1
6154756706, 2
6154756707, 3
6154756708, 4

Question Number : 128 Question Id : 6154751720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements-one 1s labelled as Assertion (A) and the other 1z labelled as
BReason (R):

Assertion (A): The standard ballistics data from the standard firearm- ammumnition

combination have no relevance vis-a-vis country made firearms

Reason (R) : Therefore, if the range of fire etc. have to be ascertained in a case involving
country-made firearm. they must be based upon exhaustive tests with the
suspected firearm and ammunition of the same make and batch. if

possible, to the one used 1n the crime.

In the hight of the above statements, Choose the correct option

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) 1s true

Options:

61547567059 1
6154756710, 2
6154756711, 3
6154756712 4

Question Number : 128 Question 1d : 6154751720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



=1 fam 21 e § B v e (A) A 3 FE (R) F
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(1) (A 37 ®R) 3 79 7, 700 (R). (A) F1 =& =wen 2
(2)  (A) 3R (R)=H o3 , W (R), (A) F o8t === 954 2
(3) (A)F= 2, W (R) &7 T4l 2

(4) (AT 7 2, #7 (R) 99 2
Options:
6154756709 1
E1547E6710. 2
6154756711 2
6154756712 4

Question Number : 129 Question Id : 6154751721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the correct sequence of examination of an unknown blood stain?

(1) Spectroscopic examination. Benzidine test. Hemochromogen test. Absorption
inhibition
(2) Absorption inhibition. Benzidine test. Spectroscopic examination. Ring assay

(3) Kastle-Maver test. Teich mann test. Oakley-Fulthorpe method. Mixed agglutination
test

(4) Latte's crust method. Absorption elution methods. Single diffusion assay. RNA bhased
assavs

Options:

615475671351

6154756714 2

154756715 2

E1E475EF1E 4

Question Number : 129 Question Id : 6154751721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TorlT w77Ta To g o Y W TE S gy § H o R

(1) T2 5/, sssrEd Wie, FaEhmsE e, s gy

(4) <2 WA Ty, FFmmEe e G, T ET TE, W U T ST s
Options:
6154756713, 1
6154756714, 2

E154756715 3
B154756716. 4

Question Number : 130 Question Id : 6154751722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following processes are correct in the order of thewr occurance during

automization in atomic absorption spectrometry?

(1) Nebulization. Solvent evaporation. Volatihzation, Dissociation

(2) Volatilization, Dissociation. Nebulization. Solvent evoporation

(3) Nebulization. Volatilization. Solvent evaporation, Dissociation

(4) Dizsociation, Solvent evaporation. Nebulization, Volatihization
Options:

B154756717. 1
6154756718 2
6154756719 3
E154756720 4

Question Number : 130 Question Id : 6154751722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT S TE A H WHOEE % SR gidd TRt 1 @l S Fefafaa 0 1 = et
(1)  Hiwrie Fmio, faemas sodmn, s, m9a

(2) =R, M, AETE FE, e S

(3) Tt o, smorstier, e arfim, s

(4) ==, T ST, AR T, S



Options:

6154756717 1
154756718 2
154756719 2
154756720, 4

Question Number : 131 Question Id : 6154751723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ministry of Home Affairs. Government of India has established recently three Central
Forensic Science Laboratories 1n which set of following cities?

(1) Jodhpur. Bhopal. Bangalore (2) Pune. Ahmedabad. Jaipur
(3) Pune. Jaipur. Bhopal (4) Pune. Bhopal. Guwahat1
Options:

B154r56721.1
G154756722 2
6154756722 3
E154756724. 4

Question Number : 131 Question Id : 6154751723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1]7-:’ :.i-,“-;rp.g. Hd Bi=hN T-[ =G| T:""I 'l-'| T-'H——Idl-;?‘lﬁﬁ'.‘l ﬂ ?Ei Ir;-i'--| '_-FI:[ UIH;I- {:[ ;-"r--ghl'-{ '“-1I*1{I-:"1i-;-ith Tﬂrll-i ',J"-il‘l-'?_ilﬂl'jﬁ I,i‘f-ﬁ
UF UH UH) =l T =l B

(1) ‘:-l-"r‘&TgT, AT, AR (2) T?T HEHE ARG, AW
(8) U, Y, 9= (4) U, ST, TEEE
Options:

BE1547567210 1
B154r56722 2
E154756723 3
E154756724. 4

Question Number : 132 Question Id : 6154751724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following List I wath Last IT

Last I Last IT
(Plant Poison) (Active Principle)
(a) Strychnos Nux vomica (1 Hyoscyamine
(b) Atropa Belladonna (1) Nerufohn
() Semecarpus anacardium (111) Bhilawanol
(d) Thevetia peruviana (1v) Brucine

Choose the correct option from those given below :

(1) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(1)
(3) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(4) (a)-(iv). (b)-(1). (¢)-(ii1). (d)-(i1)
Options:

6154756725, 1

6154756726, 2

6154756727, 3

6154756728, 4

Question Number : 132 Question Id : 6154751724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tft-1 1 ge=t-11 & oY gEfe Hirm)

T I Tt-I1
(T fam) (At )
(a) Tez=em w99 ditg (1) EEEETEE
(b) T FEATSHI (i) AT
(c) THFFNIH TATHISEH (i1i) ToeTEER
(d) 2T TEEEE (iv) =fE

e for o {9 | wF I g

(1) (a)-(11). (b)-(111). ()-(1v). (d)-(1)
(2) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(3) (a)-(1). (b)-(1). (c)-(m). (d)-(1v)
(4) (a)-(1v). (b)-(1). (e)-(111). (d)-(11)
Options:

5154756725, 1

5154756726, 2

5154756727, 3

6154756728, 4



Question Number : 133 Question Id : 6154751725 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match the following List I with List II

Last I
(a) Malathion (1)
(b) Aldicarb (11)
{c) Endrn (111)
(d) Cybermethrin (1v)

Choose the correct option from those given below :

(1) (a)-(1v). (b)-(ii). (e)-(1i). (d)-(1)
(2)  (a)-(iD). (b)-(). (e)-(v). (d)-Gi)
(3)  (a)-Gi), (b)-{v). (e)-(). (d)-(ii)
(4)  (a)-@1). (b)-(). (c)-{1). (d)-(v)

Options:
6154756729 1

E154756730. 2
E154756731. 3
B154r56732. 4

List IT

Carbamates
Pyrethroids
Organophosphorus

Organochlorines

Yes

Question Number : 133 Question Id ;: 6154751725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



g=1-1 %1 g1-11 % 1% Fefera Fir)|

=11 o111
(a) Herfasm (i) =iz
(b) TUfesHE (i) TERYTESH
(¢) Ui (iii) HAFHATFEREG
(d) TETEEEA (iv) FAFHEATS

"qT:E:'Fr = -J.r- .-‘:

(1) (a)-(1v). (b)-(111). (e}-(11). (d)-(1)
(2) (a)-(111). (b)-(1). (c)-(1v). (d)-(11)
(3) (a)-(11). (b)-(1v), (€)-(1). (d)-(111)
(4) (a)-(111), (b)-(1). ()-(11). (d)-(v)

Options:

6154756729 1
6154756730 2
6154756731, 3
E154756732 4

Question Number : 134 Question Id : 6154751726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the shape of raised 1dentification mark (List I) present on different denominations

(Last II) of the currency notes

List I List IT
(a) Rs.100 (1) Circle
(b) Rs.200 (1) Horizontal rectangle
(c) Rs.b00 (m1) Trangle
(d)y Rs.2000 (iv) ‘H'-mark

Choose the correct option:

(1) (a)-(111). (b)-(11). (e)-(1). (d)-(1v)
(2) (a)-(1). (b)-(1v). (c)-(11). (d)-(111)
(3) (a)-(11). (b)-(1v). (c)-(1). (d)-(11)

4 (@-@). (b)-(n). (e)-(v), (d)-(11)
Options:
6154756733 1
6154756734 2
E154756735 2
61547567326, 4

Question Number : 134 Question Id : 6154751726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A=1-1 9 130 710 39 50 veaH fag 1 3R 3R g=-I1 | fou fafas gog = A =i gafea fifae

=11

(a) *.100
(b) =. 200
(c) *=. 500
(d *.2.000
(1) (2)-(n). (b)-@). (e)-(). (d)-1v)
2 (a)-0). ®d)-Gv). (e)-1i). (d)-G11)
(3) (a)-(111), (b)-(v). (c)-(). (d)-(11)
(4 (a)-(1). (b)-(11). (¢)-(1v). (d)-(11)
Options:

BE154756733. 1
B154r56734 2
6154756735 3
E154756736. 4

Question Number : 135 Question Id : 6154751727 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T=i-11
@ =7
(i) &= wm
(i) T

iv) == =%

MCQ Option Shuffling : No Display Question Number : Yes



Match the following from List I with Last IT

Last I

(a) Model signature

(b) Patching

(c) Retracing

(d) Pen hft

Choose the correct option:

(1) (a)-(v ). (b)-(11 ). (c)-(111 ). (d)-(1 )
(2) (a)-(11). (b)-(111 ). (¢)-( 1), (d)-(v )
(3) (a)-(1). (b)-( 1v). (c)-( 11). (d)-(111)
(4) (a)-( 111), (b)-(1v ). (e)-( 1). (d)-( 11)

Options:

6154756737 1

6154756738, 2

6154758739, 3

6154756740, 4

(1)

(11)

(111)

(1v)

Last 1T

Any stroke that goes back over the
same writing stroke

An interruption in a stroke caused by
removing the writing instrument from
the paper

A geninuine signature that has been
used to prepare an 1mitated or traced
forgery

Retouching or going back over a
defective portion of a writing stroke

Question Number : 135 Question Id : 6154751727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



=11 1 FA1-11 = =19 gferm it

(a)

(b)

(c)

(d)

g1

aied o=

[ n R .~
Arl TFHhed JHET

(1)
(2)
(3)
(4)

Options:

(a)-(v). (b)-(11), (c)-(111), (d)-(1)
(a)-(11), (b)-(111). (c)-(2). (d)-(1v)
(a)-(). (b)-(1v). (¢)-(11), (d)-(111)
(a)-(111). (b)-(1v). (c)-(1). (d)-(i1)

61547567371
E154756738. 2
BE154756739 3
B154756740, 4

T=1-11

() 9 @R 7 A § fg= SR W amE S
=

Lal

(i) TF FH W1 A T | T FAd 224 F A
G

(i) == TS EEATA TAEE Ahel e E
fere =i 2 =

F = fom =mn fa"r 91 arel a=hn

Question Number : 136 Question 1d : 6154751728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the monomer in (list I) with their corresponding polymer in (list II)

List I List II
(a) Ethene (1) Poly (tetra fluoro ethene)
(b) Propene (1) Polyvinyl chloride
(c) Chloroethene (1) Polythene
(d) Phenylethene (1v) Polypropvlene

(v)  polystyrene

Choose the correct option from those given below

{1} {_EI_)-(V)- {b}'(]-u)! {G}-{l‘-"}, (d}'{ll}
(2) (a)-(1). (b)-(v). (e)-(11), (d)-(v)
(3) (a)-(111). (b)-(1v). (e)-(1D). (d)-(v)
(4) (a)-(111), (b)-(v). (e)-(v), (d)-(1)

Options:

1547567411

1547568742 2

6154756743 3
6154756744 4

Question Number : 136 Question Id : 6154751728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g1 % gHET (UhET) i geEl-I0 % wiiem (sger) § gt it

rcis
(a) 399
(b) T
(c) TEAEYE
(d) == 99
o7l oo 9HT

(L (a)-(v). (b)-Gi1), (e)-(iv), (d)-G1)
(2) (a)-(1). (b)-(iv). (¢)-(11), (d)-(v)

(3) (a)-(111), (b)-(1v). (c)-(11). (d)-(v)
4 (a)-(111). (b)-(). (c)-(v). (d)-(1)

Options:

6154756741 1
6154756742 2
6154756743 3
6154756744 4

Question Number : 137 Question Id : 6154751729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

(1)
(i1)
(1i1)
(1v)
(v)

-

=11

aiet (221 )

".,-:. Iﬁm
N T .:ﬂ



Match the following List I with Last IT

(a)
(b)

(c)
(d)

ListI
(Growth stages of hair follicles)
Anagen
Telogen
Exogen
Kenogen

(2)
(11)
(1)

(1v)

(v)

Choose the correct option from those given below

1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(ii), (c)-(v), (d)-(ii)
(a)-(111). (b)-(11). (¢)-(1). (d)-(1v)
(a)-(iv). (b)-(1). (¢)-(11), (d)-(v)
(a)-(v). (b)-(1). (e)-(av). (d)-(11)

6154756745 1
E15475674E 2
E154756747 3
B154756748. 4

Last IT
(Description)
Resting stage

Phase between empty hair follicle and
the growth of new hair

Regression of hair follicles
Active shedding of hair
Active growth phase

Question Number : 137 Question Id ;: 6154751729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g=1-1 =1 g1-11 % =19 Fgafed Firo)

-1 T=1-11
(T F9 F TaFE F =) (Feraron)
(a) TATSH (1)  TagmEmEERn
(b) ZErsA (i) T 09 F9 AT A0 S F I TS
(c) TFEEA (i) 9 FT T TR
(d) FAEH (iv) T9 1 9% =9 ° 950

(v) TEhT aga wEeRn

(1) (a)-(1). (b)-(111). (c)-(v). (d)-(11)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(v)
(3) (a)-(1v). (b)-(1). (c)-(11), (d)-(v)
(4) (a)-(v). (b)-(1). (c)-(v). (d)-(11)

Options:

6154756745 1
6154756746, 2
6154756747 3
154756748 4

Question Number : 138 Question Id : 6154751730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the folowing from IList I and List II

Last I Last II
(a) Amatol (1) Gun cotton and nmitroglycerin
(b) ASA mixture (1) Penta ervthr-tetra nmtrate
(¢) Cordite (1) Ammonium nitrate and trinitrotoluene
(d) Cordtex (wv) Lead azide., lead styphnate and

aluminum powder

Choose the correct option from those given below

(I (@)-@). (b)-(111). (c)-(11). (d)-(Qv)
(2)  (2)-GiD). ()-(v). (c)-(1). (d)-(ii)
(3)  (a)-GD), (b)-(iid). (¢)-(iv). (d)-(1)
4  (@)-v). (b)-(1). (¢)-(11). (d)-(1)

Options:
E1547567459 1

E154756750 2
B154756751. 3
B154r56752. 4

Question Number : 138 Question 1d : 6154751730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gi1-1 %1 gei1-I1 % =19 geferd i)

I ge-IT
(a) THZIHA () T FiA HAR A2 TEE
(b) T TH T W () U UgREEEZE
(c) e (i) HATEA A3eE 3R TEAEZEEA
(d) Fieaa (iv) =% THES, WSoFe N Tegmi-E et

(1) (a)-(1). (b)-(111). (c)-(11). (d)-(av)
2 (a)-(il). (b)-(Av). (e)-@). (d)-(ii)
(3) (2)-(1). (b)-(i11). (e)-(iv). (d)-(1)
4 (a)-Gv), (b)-1). (c)-({i1), (d)-@)

Options:

6154756749 1
6154756750 2
£154756751. 2
6154756752, 4

Question Number : 139 Question Id : 6154751731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following from hist I and Last II

List I Last IT
(a) Bio diesel (1) Methane
(b) Naptha (1) Trglycerdes
(c) Bioethanol (11) Hydroearbon
(d) Biogas (v) Carbohydrate

Choose the correct option from those given below

(1 (@-av). (b)-(), (e)-(11), (d)-(111)
(2) (a)-(11), (b)-(v). ()-(1), (d)-(111)
(3)  (a)-Gi). (b)-(ii1). (c)-(iv). (d)-(1)
4  (a)-Av). (b)-({iD). (c)-(1). (d)-({1)

Options:
61547567531

E154756754 2
B154756755 3
B154756756. 4

Question Number : 139 Question 1d : 6154751731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 =11
(a) @EREE i) e
(b) AT (i) grEfemTEsE
(c) W (ili) FTEZHEA
(d =T (iv) FEEESe

i fau o fahew | © TR I g

(1) (a)-(1v). (b)-(1). (c)-(11), (d)-(111)
(2 (a)-GD). (b)-0v). (c)-(). (d)-(ii1)
(3)  (a)-Gi). (b)-Gid). (¢)-Gv). (d)-(1)
4 (@-Gv). (b)-(i1). (e)-(), (d)-(11)

Options:

61547567531
6154756754 2
6154756755 2
6154756756 4

Question Number : 140 Question Id : 6154751732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following from List I and List IT

List I Last IT

(a) Yaw (1) It 1s the sealing of the breach end of a
oun by the expanded cartridee case on
firing. to prevent the escape of gases
from the same

(b) Ricohet (11) When the projectile strikes the surface
at a low angle and change its path or
direction

(c) Obturation (m1) It 1= the backward movement of

firearm on firing

(d) Recoil (1v) The deviation of the projectile from 1its
nose onward position due to 1ts
splnning motion

Choose the correct option

(1) (a)-1). (b)-1). (c)-(1). (d)-(v)
(2) (a)-(v ), (b)-( 1), (c)-( 1), (d)-( 111)
(3)  (@)-@). (b)-a1). (e)-aii ). (d)-(v )
(4 (a)-(11 ). (b)-( ). (c)-(i11 ). (d)-(1)

Options:

61547567571

6154756758 2

6154756759 3

6154756760 4

Question Number : 140 Question Id : 6154751732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T=1-1 %1 F=-11 5 gafea Him)

a1
(a) TTTEETA

(b) frFrEz

(¢) HTIH

(d) wfazy

= e 9fm

(1) (a)-Gi1). (b)-@). (c)-(1). (d)-({1v)
(2) (a)-(iv). (b)-(11). (c)-@). (d)-(11)
(3) (a)-(1). (b)-(11), (c)-(11), (d)-(1v)
(4)  (a)-11). d-av). (c)-({11). (d)-({)

Options:

6154756757 1
6154756758 2
6154756759 3
154756760, 4

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

T=1-11

() g% F §" DL T FAGE F ([FEAd A
o AT Fh E IR e e = B o e e

(i) =9 TETH HAE *H I B W AEE FA A
W 9T J qon fEen wee 2 7

(iii) #FEFE * =@ & 9% 98 % A 'H

(iv) @AW 1 AR I 9 | gue 1 %
TETF ] T

2

61547578

Yes

Question Id : 6154751733 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (141 to 145)
Cestion Label | Comprehiension

Read the following passage carefully and answer the questions that follow.

In a suspected murder case. the Investigating officer recovered a 9 inch sharp kmife near the
vietim's body with mght carotid artery shitted from the scene of crime. Blood stain produced
by direct contact of knife blade was observed on the lower parts of demum Jeans worn by the
vietim. Fingerprmnt expert lifted blood stained fingerprint from a table lyving near the victim.
Further. a large gushing or spurting blood pattern was also observed on wall. The height of
these stains were at approx. 5 ft from the floor. Investizating officer also noticed a latent
blood stained footprint on floor although an attempt was made to cleanup the floor. Stained
clothings of the suspect were also recovered by 10. All exlubits were collected. sealed and

sent for forensic analvsais,

Sub questions



Question Number : 141 Question Id : 6154751734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What informations can be furmished by blood stained fingerprint on table?
(a) Fingerprint pattern / Individualization

(b) Blood group of suspect / victim

(c) Cause of death

(d) Time since death

Choose the correct option
(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (d)

Options:
B154756761. 1

E154756762. 2
E154756763. 3
BE154756764, 4

Question Number : 142 Question Id ;: 6154751735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Enhancement of latent blood stained footprint can be done by

(a) Black powder

(b) Luminol reagent

(c) Digital photography
(d) Iodine fuming

Choose the correct option

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (d)
Options:
154756765 1
6154756766, 2

B15475676Y. 3
E154r56760. 4

Question Number : 143 Question 1d : 6154751736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Type of blood pattern produced on denim Jeans by knife in this case 1s known as

(1) Flow pattern (2) Skeletanized bloodstain
(3) Transfer pattern (4) Drip pattern
Options:

E154756769. 1
E154756770. 2
B154756771. 3
B1547567 72 4

Question Number : 144 Question Id : 6154751737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Recovered stained cloths of the suspect can reveal :

(a) Source of blood on the garment (victim / suspect)
(b) Reason for deposition of blood stain on suspect cloths
(c) Linkage of suspect to the scene of crime

(d) The type of weapon used

Choose the correct option

(1) (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (c). (d) and (a)
(4) (d). (a) and (b)
Options:
6154756773 1
6154756774 2

E154756775. 3
E154756776. 4

Question Number : 145 Question Id : 6154751738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The internal angle at which blood strikes a target surface 1s known as :

(1) Point of origin (2) Angle of divergence
(3) Point of convergence (4) Angle of impact
Options:

B154r56777. 1
6154756778 2
6154756779 3
E154756780. 4

Question Id : 6154751733 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (141 to 145)
Juestion Label - Comprehension

Tere &0 & WA T SO0 TE ° e g 3 B 5 o i gt 9 fifsd & 9= i g 9
T % geA 5@ TU| e B e J fied & o 98t 39 ¥ T e e 919 397 369 A,
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Sub questions

Question Number : 141 Question Id : 6154751734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HA W 3Thd TF F 959 Al I 319 H A H g WH S Gl w7

(a) I DT =l ﬁi-l!-:l-.’.;-:i’-dlﬂ:’hwr
(b)  @fera/difsa #1 w 9E

()  gog = FAW

(d) ¥ F v 99

(1) (a) 37 (b)
2 (b) 3 (c)
(3)  (c) # A (d)
(4)  (a) ¥ (d)

Options:

6154756761 1
154756762 2
154756763 2
6154756764 4

Question Number : 142 Question Id : 6154751735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T g gU 50 TF % 9R8 a1 90 I 31 7 ghg T gt @
(a) TAF AT

(b) AT AR

(c) TSsiteet HIZmmh

(d)  AAEN gEE

(1) (a) #T (b)
(2)  (b) 3 (c)

(3) () ¥ (d)
(4) (a) #T (d)

Options:

6154756765 1
6154756766, 2
6154756767, 3
6154756768, 4

Question Number : 143 Question 1d : 6154751736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=0 WS H 9TF 3R SHE SH W S T SEE F TR A 4 ° 5 =9 6 e 27

(1)  WemwE e (2) AP (ThozAEsE) T H e
(3) oA (TFF) =ATEE (4) =994 (F39) T2
Options:

E154756769. 1
E154756770 2
B154r56771. 3
G154756772 4

Question Number : 144 Question 1d : 6154751737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HieTd = SIS gesl Ih FUS A L W ®

(a) el (difza/afra) w = #1 A
(b)  TfeTe = FISI T I F gEA] & TAE 7 B
(c) A T H GiETy T geEey

(d)  TIF EYER F UER

TET ey fgﬁ'ﬂ :
(1) (). (b) 3 (c)
(2)  (b), (c) #AT (d)
(3) (c). (d) ¥ (a)
4  (d), (a) 37 (b)
Options:
L1E47FEEY T2 1
L1547V EEF 7 2

B154756775 3
E154756776. 4

Question Number : 145 Question Id : 6154751738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qE STANF H0 951 SAitad Tas 9 T 20 7, IH 99 Fed 2 7

(1)  vaEz A7 A (2) SEEFEH FO
(3)  FeEsie wse (4) TEF FO
Options:

B154r56777. 1
6154756778 2
6154756779 3
E154756780. 4

Sub-Section Number: 3
Sub-Section 1d: 61547579
Question Shuffling Allowed : Yes

Question Id : 6154751739 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension



Read the passage carefully and answer the questions that follow.

Many viectims mostly females of voung age went missing within period of one vear from a
particular village. The parents of these victims lodged FIR with the nearby police station.
Police started investigating the case. Police found during primarv investigation that these
victims were last seen entering a particular house which was close to this millage.

The owner and servent who were occupving this house were interogated thoroughly.
Investigating officer searched this house and itz garden thoroughly. On gquestioning the
servant. he confessed to killing of these victims using a big knife Iying 1n the kitchen. On
searching the garden and bathroom of this house. many hard and soft tissues were recovered.
Along with this. other exhibits like hair bands. haiwr clips ete. were also recovered and sent
for forensic examination. Since the bodies were cut into many pleces. 1dentificatin of these
victims could not be ascertained. As there were manyv claamants, the bodily pleces were
examined properly.

Sub questions

Question Number : 146 Question Id : 6154751740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The measurement of which of these bones are better for establishing the sex of an individual.

(a) Humerus
(b) Femur

(c) Vertebrae
(d) Ulna

Choose the correct optlon :
(1) (a) and (c)
(2)  (a) and (d)
(3) (a) and (b)
(4) (b) and (d)
Options:
1547567511
6154756752 2
E15475e7E3. 3
154756754, 4

Question Number : 147 Question Id : 6154751741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Investigating officer carried out the investigation as per the provision of

(1) Section 81 CrPec (2) Section 24 CrPc
(3) Section 18 CrPec (4) Section 174 CrPc
Options:

6154756785, 1
E154756786, 2
E154756787. 3
E154756788. 4

Question Number : 148 Question Id ;: 6154751742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of these Psychological tests are helpful in such medico-legal situations?

(a) Polygraph
(b) Graphology
(c) Voice analysis

(d) Narco analysis

Choose the correct option :

(1) (a) and (c)
(2) (b) and (d)
(3) (a) and (d)
(4) (a) and (b)

Options:

6154756789 1
6154756790, 2
6154756791, 3
6154756732 4

Question Number : 149 Question 1d : 6154751743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In India. who among these 1s authorized to hold ingquest?

(1) Police officer (2) Autopsy surgeon
(3) Executive Magistrate (4) Block development officer
Options:

6154756793 1
E154756794 2
E154756795 3
B154756736, 4

Question Number : 150 Question Id : 6154751744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Accurate mdividualization of the wviectims from bones 1s possible by using one of these
techniques:

(1) DNA analysis (2) Calcification
(3) Anthropometry (4) Blood group system
Options:

B154r56797. 1
E154756738. 2
6154756739 3
E154756800, 4



Question Id : 6154751739 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Sub questions

Question Number : 146 Question Id : 6154751740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
R [ O 2 i~ i iR, e A, 3 [l - i Lo
Rl =31 = 1o =hi THTERGT % 10 59 2f2al § O %4 = 251 = 919 3=9 727

(a)  =gwd
by  HER
(c) Tz
(d) oAl
w7t faey gfm

(1)  (a) 3T ()
(2) (a) M (d)
(3)  (a) ¥ (b)
(4)  (b) 3T (d)
Options:
6154756781, 1
6154758782, 2
6154756783, 3
6154756734, 4

Question Number : 147 Question Id : 6154751741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wia wfawrl 3 7= 9 9 B mEeE F agEn A=

1) uT 81 Ha i (2) oW 24 AR 9 =
0 SRR (@ 174 o o
Options:

E154756785. 1
E154756786. 2



E154756787. 3
E154756788. 4

Question Number : 148 Question Id ;: 6154751742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T O FH H TAESATE WA I MR- (AT ) Tieiad § geE

[}

(a) T

(b) T — e |,’_4,J|'+:.'|cv11-sﬁ]|
(c) =R T (IS E e )
(d) =R favemT

(1)  (b) 7 (¢)
(2) () FE (d)
(3) (a) &)
(4)  (a) #R (b)
Options:
L1547EEYES 1
Cl1547EE 790 2

6154756731 3
E154756732. 4

Question Number : 149 Question Id : 6154751743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g GHIET (SHE ) A T 9Td 3 HEtenEgy § ° wiA g 2 7

(1) q{;m * Ik5E Ara | (2) = wHE = FTeAT T
(3)  FEEN TS (4) =ATH FFE HATHA]
Options:

6154756733 1
6154756734 2
E154756795 3
E154756796. 4

Question Number : 150 Question Id : 6154751744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2o fagemm (2)
(3) AR (TEmEE) (4) T ayE fowm
Options:

B154756797. 1
BE154756798. 2
61547567959 3
E1547585800. 4



